e EBARA

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS
STANDARDISED IN COMPLIANCE WITH EN733 (EX DIN 24255)

60 Hz




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

Standardised centrifugal electric pumps built in stainless steel AISI 304
(3 SERIES) and AlISI 316L (3L SERIES).

APPLICATIONS . , ,

e Water supply to civil, agricultural and industrial plants
® Pressure boosting ] o

e Fire-fighting, heating systems and air-conditioning

e Moving industrial liquids

e [rrigation |

e Refrigeration towers

e Swimming pools

® Emptying

e Washing plants

TECHNICAL DETAILS .
e Highly resistant construction
e Hydroforming process EBARA patent

PUMP TECHNICAL DATA

e Maximum working pressure: 10 bar

e Maximum temperature of the liquid:
-10°C + +90° .
-10°C + +110°C §L-H-HS_—HW-HSW-E versions)
-10°C = +120°C (ES version)

MOTOR TECHNICAL DATA

o Self-ventilated 2 poles asynchronous motor

e Class of insulation F (B for high temperatures)

e |P 55 protection degree .

® 220/380-460V +10% (up to 4kW included) three phase voltage, 60Hz
for 3(L)M SERIES,

e 380-460/660V £10% (5,5kW and above) three phase voltage, 60Hz
for 3(L)M SERIES, ]

® 265/460V £10% (up to 4kW included) three phase voltage, 60Hz for
3(L)S-3(L)P SERIES

® 460V £10% (5,5 kW and above) three phase voltage, 60Hz for 3(L)S-
3(L)P SERIES o

e Protection is user's responsibility

65-125/160/200/250
. . 80-160/200/250
- Special mechanical seals available on request

ACCESSORIES (On request) . .

e Counter-flanges available in the following materials:
- galvanised
- AISI 304
- AlSI 316

PERFORMANCE RANGE 3 SERIES MATERIALS
at 2900 min™' (according to 15O 9906 Attachment A) e Pump casing and casing cover in:
- AlISI 304 for 3 SERIE 26}%%;128%88
il L s el e L L B 50-1257160

. Imp.gp.m. 40 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600 700 1000 65-125/160/200
T 350 - AISI 316L for 3L SERIES ié%%?ﬂ 285%88
; R L300 - g
[m] 80 ) [#] 50-125/160 H
o LTINS = | 65-125/160/200 i
iy s i N 2 20 - AISI 316 microcasted for 3L SERIES 65-250 2
® S i '?ftﬂi;j; R ":";; f&ezb 50 e Impeller in: 80-160/2007250 ‘
“ e e % - AISI 304 for 3 SERIES zéggﬂ 285588 =
2 s % 72 e, St S F - 2
® T e o NI 50-125/160 5
N E}% “% :% Vi il . - AISI 316L for 3L SERIES iéggﬂggggg B
RN -
: 4y LN N . 50-125/160 ]
! %) NS HH o - AISI 316 microcasted for 3 SERIES 65-125/160/200 2
% N} i 3L SERIES gg-ggm 60/200 s
B\ -4 - Z
80-160/200/250 2
I‘ 3 e Mechanical seal standard in: H
8 ﬂ‘ Las - Carbon/Ceramic/NBR for 3 SERIES 32-125/160/200 g
7|IIJ |I'D I |I;0I 21Il) Izml &I)ol 44)(') 51IIJ 600 I7)0&KI) WIW |I2W Is!ﬂl 2000 MIW Iiwl 4CWQ E':ﬁ/;h] gg:i %ggz}l §§;§22 §
6 7 B 910 12 1416182 25 30 40 50 60 70 100 150 200 0[m3/h] _ SIC/SIC/FPM fOr 3'_ SER'ES 2%_15251 284%88 :é”
50-125/160 §

Your Life, our Quality. Worldwide. 3 3 - 3L SERIES_60Hz



“801j0u Joud Jnouym ‘Aessaoeu swaep )

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)

PERFORMANCE RANGE 3 SERIES at 2900 min-' (according to I1SO 9906 Attachment A)

U.S.g.p.m. 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600 700 1000
| | [ Y T N O B I I R B L
I I | I 1T 11 I T 11 | I [T [ I I
Imp.g.p.m. 40 50 60 70 80 90100 120 140 160180200 250 300 350 400 500 600 700 1000
120
— 350
100 e A e e e e e e T e
—— — 300
[H] 80 T—— \\\ 80\350 / N [:;-tl]
m n ESaSTRRYY m===SARRNEY 5\250/ 95N 250
32-200 /7 ol 40 b NN ¢
60 IR e N T |65\25%066 \)‘{9@ - 200
i M A s M NG
WA ~ ~__ ~ 3 N D
» st Y (TN R S SN (2 N R
. N 50/75 6 N 85 0//5\ A I | 0% |
40— AN \\\20 25N _EEPO‘?‘ y
3 7 ] 905K NN [
\760 0\ c J } ‘ ~N 6’“ ] ‘6:5‘\ - \%, \
~ /30 \u/ﬁ%“g NSNS BCH b KOS
30 ‘ ‘70 6. JO\/ | 1 1 i //Jéﬁ C,,O\/és 6)09 — 100
Py N AN N o} NN
125, SN "% NN T TN
2% ) NCY NN 6
“ 5 ) OA\/\\G / 75
2 NCDON
20 N &5 AN
) C% a5 <3
b7 / 25 N NN
ESLN A NN \TIRCAN 1l
2N NN /
P L -
15 tf% 1 N 50
AEZAN
3\ 40
2\ /
0 \ % /J
8 | / / - 25
100 120 150 200 250 300 400 500 600 700800 1000 1200 1500 2000 2500 3000 4000 5000
Q [I/min]
T T T 1T T T T 11 1 | T 1 I | | |
6 7 8 910 12 14 16 18 20 25 30 40 50 60 70 100 150 200
Q [m¥h]
Your Life, our Quality. Worldwide. 4 3 - 3L SERIES_60Hz



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
IDENTIFICATION CODE
[3SERIES | [ L |[ M J[ A |[65]-[160]/[22][6 |
60Hz MODEL
MoToR POWER IN kW
125
IMPELLER DIAMETER 160
200
250
32
D 40
ISCHARGE SIZE 0
65
80
H
HS
OPTIONAL VERSION HW
HSW
E
ES
M
MODEL S
VEersion IN AlSI 316 P
PuMP NAME
Versions 3M 35 3P 3LM 3LS 3LP
32-125 Vv v Vv v v v
32-160 v Vv v vV vV v
32-200 v v v v v vV
40-125 v v v vV v v
40-160 v v v v v v
40-200 v v v v v v
50-125 v v v v v v
Pump 50-T60 v v v v v v
65-125 v v v v v vV
65-160 v v v v v v
65-200 v v v v v v
65-250 - - B N ° °
80-160 - - - ° o o
80-200 - - - - ° °
80-250 - - - - ° °

v = Models also available in H-HS-HW-HSW version for 32, 40, 50, 65-125/160/200
* = Models also available in H-HW-HSW-E version for 65-250, 80 and in ES version for 80-250 @35

The contents of this publication must not be regarded as binding. EBARA Pumps Europe S.p.A. reserves the right to effect any modification it deems necessary, without prior notice.

Your Life, our Quality. Worldwide. 5 3 - 3L SERIES_60Hz



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

PERFORMANCE TABLE 32-40-50

P, Q=Flow rate
[/min__ 100 | 150 200 250 300 350 400 500 600 700 833 | 1000 | 1200 | 1433
[HP] | [kw] [m¥h 6 9 12 15 18 21 24 30 36 42 50 60 72 86
H=Head [m]

Model

SERIES 32-125/2.26 3 2,2 3141 304 | 286 | 261 | 233 | 202 | 17,0

SERIES 32-160/3.06 4 3 410] 396 | 378 | 354 | 325 | 294 | 26,0

SERIES 32-160/4.06 55 4 51,5/ 505 | 485 | 465 | 435 | 400 | 36,6

SERIES 32-200/5.56 7,5 55 625] 61,0 | 590 | 560 | 530 | 485 | 440

SERIES 32-200/7.56 10 75 760 745 | 725 | 695 | 660 | 620 | 570 - - - -
SERIES 40-125/3.06 4 - 282 | 27,7 | 270 | 261 | 249 | 223 | 191 154 | 10,0

3 -
4 - - 372 | 368 | 360 | 351 | 340 | 316 | 286 | 252 | 200

3()
3()
3()
3()
3()
3()
3()
3() SERIES 40-160/5.56
3()
3()
3()
3()
3()
3()
3()

SERIES 40-125/4.06 55

7,5 55 440 | 435 | 425 | 415 | 400 | 372 | 340 | 30,7 | 262
SERIES 40-160/7.56 10 7,5 56,0 | 555 | 545 | 535 | 520 | 490 | 460 | 425 | 380
SERIES 40-200/116 15 11 66,5 | 660 | 650 | 635 | 620 | 585 | 550 | 51,0 [ 450
SERIES 40-200/156 20 15 820 | 815 | 85 | 795 | 780 | 750 | 715 | 675 | 620 - - -
SERIES 50-125/5.56 7,5 55 - - - - - 300 | 292 | 280 | 260 | 228 | 184 | 12,6
SERIES 50-125/7.56 10 75 365 [ 357 | 346 | 327 | 297 | 253 [ 195
SERIES 50-160/116 15 11 46,0 | 450 | 435 | 410 | 374 | 324 | 258
SERIES 50-160/156 20 15 56,0 | 555 | 540 | 52,0 | 490 | 450 | 390

PERFORMANCE TABLE 65-80

P, Q=Flow rate

[/min_ 600 [ 700 | 900 | 1200 | 1400 | 1600 | 1800 | 2000 | 2100 | 2200 | 2400 | 2500 | 3100 | 3600 | 3800 | 4000
[HP] | [kW] m¥h 36| 42 54 72 84 9 | 108 | 120 | 126 | 132 | 144 | 150 | 186 | 216 | 228 | 240
H=Head [m]

Model

3(.) SERIES 65-125/5.56 7,5 55 2571249 1229 [ 196 | 172 | 148 | 122 | 95

3(.) SERIES 65-125/7.56 10 75 3151307 [ 288 [ 255 [ 230 | 204 | 17,7 | 149 | 135

3(.) SERIES 65-160/9.26 12,5 9.2 -1355 13361303 279|252 | 221 | 187 | 17,0

3(.) SERIES 65-160/116 15 1" 40,5 | 385 | 350 | 324 | 296 | 26,6 | 235 | 21,8 | 20,0

3(.) SERIES 65-160/156 20 15 485 | 470 | 435 | 415|387 | 359 | 329 | 313 | 295

3(.) SERIES 65-200/156 20 15 -1 535 [ 515475 445 | 410 | 378 | 344 | 325 -

3(.) SERIES 65-200/18.56 | 25 18,5 -1 61,0 | 59,0 | 55,0 | 52,5 | 49,5 | 46,0 | 42,5 | 40,5 | 39,0

3(.) SERIES 65-200/226 30 22 -1 685 1665 | 625 | 600 | 570 | 53,5 | 50,0 | 485 | 46,5 -

3(.) SERIES 65-250/306 40 30 -l 785 1760 | 7351 705 | 67,0 | 62,5 | 60,5 | 58,0 | 52,0 -

3(.) SERIES 65-250/376 50 37 - - 90,0 | 875 ]850 | 825|790 | 750 | 730 | 71,0 | 66,0 | 63,0 - - -

3(.) SERIES 80-160/18.56 | 25 18,5 -l - - 388 | 37,9 1368 | 356 | 350 | 343 | 330 | 324 | 281 | 23,8 | 22,0 -
_ | 3() SERIES 80-160/226 30 22 -l - - - 4251420 [ 4101397 390 | 385|373 [ 366|324 ]285 ] 269 | 250
g | 3() SERIES 80-200/226 30 22 - - - - 47,0 | 455 | 440 | 425 | 415 | 405 | 385 | 375 | 305 | 240 - -
g | 3() SERIES 80-200/306 40 30 -l - - 60,0 | 59,0 | 57,5 | 56,0 | 550 | 54,0 | 52,5 | 51,5 | 445 | 379 | 351 | 32,0
2 | 3(.) SERIES 80-200/376 50 37 -l - - 68,5 | 67,5 | 660 | 645 | 640 | 630 | 61,5 | 60,5 | 540 | 480 | 450 | 42,0

3(.) SERIES 80-250/456 60 45 -l - - - 82,0 | 80,0 | 780 | 755 | 745 | 73,0 | 70,5 [ 69,0 | 57,5 | 455 | 40,0 -

3(.) SERIES 80-250/556 75 55 -l - - - 955 19351915895 | 80 | 8,0 | 84,0 | 825 [ 720 | 61,0 | 555 | 50,0

jeoypow Aue Joays o} 1yBu e senesal y'd'g adoing sdwnd yeya3 “Bupuiq se papsebs aq 1ou snw uogeagnd sy}

*80jJ0u Joud Jnoyjm “AIESSBOBU SWBBP }f UO!

Your Life, our Quality. Worldwide. 6 3 - 3L SERIES_60Hz



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

PERFORMANCE CURVES 3(L)M-3(L)S-3(L)P SERIES 32-125 4t 2900 min (according to I1SO 9906 Attachment A)

0 USgpm. 20 30 40 50 60 70 80 90 100 110 120 130
| | | | | | | | | | | | | |
[ [ [ [ [ [ [ [ [ [ [ |
" 0 Imp.g.p.m. 20 30 40 50 60 70 80 90 100 110
120
H H
[m] [ft]
“ “+— 00
o~
\\‘ 725/2
N L
\\ 80
N
20 =
N 60
N
NPSH
40
[m] [ft]
10 T 5
NPSH L 4
__ 310120
2
5
1
0 0
0 100 200 300 400 Q [1/min]
[ | | | | | | | | | | | | | |
0 2 4 6 8 0 12 14 16 18 20 22 24 26 28 Q[m3A]
0, ’ ]
] 2 125/2.26
—
1
0
0 100 200 300 400 Q [1/min]
70 T ]
‘r] T T T
60 — = 125/2.26
(7] — /
L
50
40 ~
30
0 100 200 300 400 Q [1/min]

Your Life, our Quality. Worldwide. 7 3 - 3L SERIES_60Hz

The contents of this publication must not be regarded as binding. EBARA Pumps Europe S.p.A. reserves the right to effect any modification it deems necessary, without prior notice.



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

PERFORMANCE CURVES 3(L)M-3(L)S-3(L)P SERIES 32-160 at 2900 min"' (according to I1SO 9906 Attachment A)

0 USgpm. 20 30 40 50 60 70 8 90 100 110 120 130
| | | | | | | | | | | | | |
| I I [ I | I [ I I [ 1
5 0 mPgpm. 20 30 40 50 60 70 80 90 100 110
180
N T "
[m] 50 == [ft]
~_ i0/4_06 160
S N~ 140
40 —T= S~
— ‘\
T—
~L%0, s ~ 120
I~
30 ™ 100
SN
™~
- 80
NPSH
20
[m] [ft]}-60
620
| 1540
10 NPSH 47
275
0 0
0 100 200 300 400 Q [I/min]
[ [ I I I I I I I I I I I I I ]
o 2 4 6 8 10 12 14 16 18 20 2 24 26 28 Q[m3h]
° 1
Py 1
o] 4 160/4.06
, | — 160/3.06
I
g 0 L
: 0 100 200 300 400 Q [I/min]
£ 70 T T 1
" 160/3.06
g (%] L 160/4.06
¢ 50 —
3 >
40 -
30
0 100 200 300 400 Q [I/min]

Jnoyym ‘KIeSSa08U SWesp 1

Your Life, our Quality. Worldwide. 8 3 - 3L SERIES_60Hz



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

PERFORMANCE CURVES 3(L)M-3(L)S-3(L)P SERIES 32-200 at 2900 min"' (according to I1SO 9906 Attachment A)

0 USgpm. 20 30 40 50 60 70 80 90 100 10 120 130
| | | | | | | | | | | | | |
| I I I | I I I I [ ]
0 Imp.g.p.m. 20 30 40 50 60 70 80 90 100 110
80 - 260
I it
T — |
H ~— 200/7 240 H
[m] 70 \-5i [#]
| s - - 220
T T
60 E— 20 \\\ - 200
—
%56’ ™
~ 180
N
\\
50 ~< 160
\\\
NPSH 1
40
[m] [ft] o0
620
30 NPSH 4 S 1100
27 5 80
20
0 100 200 300 400 Q [I/min]
| T | | T T T T T T T T T |
0 2 4 6 0 12 14 16 18 20 22 24 2 28 Q[m3h]
8 T T T
Py 200/7.56
—— — 200/5.56
4 —
2
0 100 200 300 400 Q [I/min]
60
1 g e
(7] —
) 200/5.56 ~
30 ON
200/7.56 —
20 | | |
0 100 200 300 400 Q [I/min]
Your Life, our Quality. Worldwide. 9 3 - 3L SERIES_60Hz

The contents of this publication must not be regarded as binding. EBARA Pumps Europe S.p.A. reserves the right to effect any modification it deems necessary, without prior notice.



E
3
g
8

U} sanasel y'd'g adoing sdwind g3 “Bupur

*80jj0u Joud Jnoyjm ‘KIESSB0BU SWABp ) Lol

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

PERFORMANCE CURVES 3(L)M-3(L)S-3(L)P SERIES 40-125 4t 2900 min (according to I1SO 9906 Attachment A)

0 USgpm. 50 100 150 200 250
| | | | | |
| I | | I
0 Imp.g.p.m. 50 100 150 200
4o mPgpm
[m] 125 [ft]
N
3 100
— 1 \\
~— \\\
N 725 ™\ 80
\/‘306‘ \\
N
20 SN ™y
\\ 60
N NPSH
N [m] [ft]
N
\ 920 I
N 62040
10 .<' 15
NPSH——_j— 4
= 10 20
2 —
-5
0 0
0 200 400 600 800 Q [I/min]
[ I I I I I ]
0 10 20 30 40 50 Q [m3/h]
6
[
P2 [ [ [
g 4 125/4.06—
[ — ] ] ]
2 125/3.06—
. -
0 200 400 600 800 Q [I/min]
n \
70 e
%] = —~ T 125/4.06
60 T ~ ;
— NS125,/3.06
50
40
0 200 400 600 800 Q [I/min]
Your Life, our Quality. Worldwide. 10 3 - 3L SERIES_60Hz



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

PERFORMANCE CURVES 3(L)M-3(L)S-3(L)P SERIES 40-160 at 2900 min (according to I1SO 9906 Attachment A)

0 US.gpm. 50 100 150 200 250
| | | | | |
| I I I I
0 Imp.gp.m. 50 100 150 200
so__mP-gpm
I I e s
— 180
R
H \\ 60 . H
[m] 756 [ft]
d 160
_— \\
-1I-\\\ \\ 40
40 60,5 S
~2-56 ™~ 190
\\\ 100
SN
™~
— 80
NPSH
20
[m] [1|_ oo
612
L
L1
NPSH | | T | | ||, 5[ *
— 10
] 20
2
5
0 0
0 200 400 600 800 Q [I/min]
| T T | T I |
0 10 20 30 40 50 Q [m¥/h]
8 T T
P, — 160/7.56 —
6 L L L
kw | T T T
[} — 160/5.56 ——
4 e I
//
2
0 200 400 600 800 Q [1/min]
80 T T T
. . 160/7.56——
70 O T—
(7] _— 160,/5.56
60 g—
0 P
40
0 200 400 600 800 Q [1/min]
Your Life, our Quality. Worldwide. 11 3 - 3L SERIES_60Hz

The contents of this publication must not be regarded as binding. EBARA Pumps Europe S.p.A. reserves the right to effect any modification it deems necessary, without prior notice.



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

PERFORMANCE CURVES 3(L)M-3(L)S-3(L)P SERIES 40-200 at 2900 min"' (according to I1SO 9906 Attachment A)

0 USgpm 50 100 150 200 250
| | | | | |
| I | | I
0 Imp.g.p.m 50 100 150 200
90
| ——
[m] <% 250 [t]
\\
T —— 4— ~—
T— I~
60 120075 ~ 200
o,
\\
~~~—
~— -
\\| —150
NPSH
[m] [ft]
30 620 100
L~
/
_— —15
NPSH // 4
ey —10 50
//
2 —
-5
0 0
g 0 200 400 600 800 Q [1/min]
[ I I I I I ]
0 10 20 30 40 50 Q [m3/h]
16 |
P2, | 1200/156
8 e 200/116
g —
2 4
z 0 200 400 600 800 Q [1/min]
B 70
£ N —
= 60
(7] 200/116 —
Z 50 ; —
200/156 <\ |2
40 ~a
-
30
. 0 200 400 600 800 Q [1/min]
8
Your Life, our Quality. Worldwide. 12 3 - 3L SERIES_60Hz




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

PERFORMANCE CURVES 3(L)M-3(L)S-3(L)P SERIES 50-125 4t 2900 min (according to I1SO 9906 Attachment A)

0 US.gpm. 100 200 300 400 500
| | | | | |
| | | | |
0 Imp.g.p.m. 100 200 300 400
40
' I I 120
‘\
[m] S [1t]
———— \\ /25/
- = \‘% 100
N
NN \\
S {/@5 \\ 80
NG N
20 A \\,
N - 60
NPSH
[m] [ft]
N
N 1 L
8 5 40
10 -
// 62
NPSH 2
15
— 7
=10
0 0 g
0 500 1000 1500 Q [I/min] 5
| T | T T T | £
0 20 40 60 80 100 Q [m3/h] :
8 T T §
Py — 125/7.56
6 = t f =
kW
(kW) 4 — 125,/5.56
0 500 1000 1500 Q [I/min] £
80
N g
[%] 70 = < s
= ™~ 125/7.56
L~ N £
60 N | | %
N o[ £
125/5.56 E
50 : / £
0 500 1000 1500 Q [I/min] 3
Your Life, our Quality. Worldwide. 13 3 - 3L SERIES_60Hz



E
3
g
8

U} sanasel y'd'g adoing sdwind g3 “Bupur

*80jj0u Joud Jnoyjm ‘KIESSB0BU SWABp ) Lol

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

PERFORMANCE CURVES 3(L)M-3(L)S-3(L)P SERIES 50-160 at 2900 min"' (according to I1SO 9906 Attachment A)

0 US.gpm 100 200 300 400 500
| | | | | |
| I I I
5 0_mPgpm 100 200 300 400
R e et
— 180
H \\ 750/ H
[} \‘]5\6 160 [
———
N — 140
—120
N\ —100
N - 80
NPSH
20
[m] [/ o
e 40
_ L
NPSH //‘/ 62
— 15 - 20
— 4
10
0 0
0 500 1000 1500 Q [I/min]
[ I I I I | ]
0 20 40 60 80 100 Q [m3/h]
© ]
P2 — 160,/156
[w] 12 i ||
8 _— 160/116
l/’ |
4 |
0 500 1000 1500 Q [I/min]
80 |
N _— - 160/156
[%] 70 —— S~ ——
P 160/116
7
60 P
50
0 500 1000 1500 Q [I/min]
Your Life, our Quality. Worldwide. 14 3 - 3L SERIES_60Hz



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

PERFORMANCE CURVES 3(L)M-3(L)S-3(L)P SERIES 65-125 4t 2900 min (according to I1SO 9906 Attachment A)

0 USgpm. 100 200 300 400 500 600
| | | | | |
| T T T T 1
1o 8 mpgpm. 100 200 300 400 500
—120
H
LI e e [ft]
30 ~. 100
T\é‘\ 80
~L_, | ~
20 \35/5-55 \\\
\\\ \\ - 60
NG \\
NPH | o
N [m] [ft]
10 ™~
30
8
020
NPSH - :
10
2
0 0
0 500 1000 1500 2000 Q [1/min]
[ I I I I I I I
0 20 40 60 80 100 120 140 Q [m3/h]
8 T T T
[Ev?] 6 L 1{25/{7.56*
|
) e 125/5.56
2
0 500 1000 1500 2000 Q [I/min]
80
n — :\
— ~_
[%] 70 F ~—
125,7.56 |
o N —
125/5.56
50 | | |
0 500 1000 1500 2000 Q [1/min]
Your Life, our Quality. Worldwide. 15 3 - 3L SERIES_60Hz

The contents of this publication must not be regarded as binding. EBARA Pumps Europe S.p.A. reserves the right to effect any modification it deems necessary, without prior notice.



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

PERFORMANCE CURVES 3(L)M-3(L)S-3(L)P SERIES 65-160 at 2900 min (according to I1SO 9906 Attachment A)

0 USgpm. 100 200 300 400 500 600
| | | | | | |
| | | | | [
5 09 100 200 300 400 500
H H
] T T T [t]
I
~~_ 60 /756‘ 150
40 T
N~ [ ‘
———— ~ N
+ ~—~—— \QO/U 6 \\‘\
~ 76
I~ Oﬁ 2 \\ - \\ L 100
\\ N
N
N
20 N ™ NPSH
N [m] [#]
62050
L~~~ |
NPSH — |, I"
10
205
0 0
0 500 1000 1500 2000 Q [1/min]
[ I I I I | | I
0 20 40 60 80 100 120 140 Q [m3/h]
2
T
Py 160,/156
[ku] 16
8 S—
160/116 160,/9.26
d 0 | | [ ] ||
2 0 500 1000 1500 2000 Q [1/min]
2 90
g n
z [%] 80 e ——
8 T—
—= \\:\ 160,156 —
2 70 '// \\\\‘ | |
160/116 ~ 7 N
] 160/9.26
60 |
0 500 1000 1500 2000 Q [1/min]

Your Life, our Quality. Worldwide. 16 3 - 3L SERIES_60Hz



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

PERFORMANCE CURVES 3(L)M-3(L)S-3(L)P SERIES 65-200 at 2900 min"' (according to I1SO 9906 Attachment A)

80

(m]

40

20

P2
(kW]

(%] 80

70

0 U.S.g.p.m. 100 200 300 400 500 600
| | | | | |
| | | | | [
0 Imp.g.p.m. 100 200 300 400 500
250
TR = )
~ [t]
I e e S 200/226
— : — 200
I
e ——— S \@/7&56 \\\
4 N
\\53‘\ \\ ™~ 150
N~ \\‘
\\
™~
—100
NPSH
[m] [ft]
815
. 61 20|50
NPSH " ol
10
275
0
0 500 1000 1500 2000 Q [1/min]
[ I I I I | | I
0 20 40 60 80 100 120 140 Q [m3/h]
T T T
200,/226—
pu— i
200/18.56 == 200/156
| | L 1]
0 500 1000 1500 2000 Q [1/min]
/—E\\ 200 ‘/ 226 —
/ i
200/18.56— 200/156
| ! |
0 500 1000 1500 2000 Q [1/min]

Your Life, our Quality. Worldwide.

3 - 3L SERIES_60Hz

The contents of this publication must not be regarded as binding. EBARA Pumps Europe S.p.A. reserves the right to effect any modification it deems necessary, without prior notice.



1 8l sanesal y'd'g 900ing sduwnd vdve3

Jnoyym ‘KIeSSa08U SWesp 1

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

PERFORMANCE CURVES 3LS-3LP SERIES 65-250 at 2900 min" (according to I1SO 9906 Attachment A)

0 U.S.g.p.m.100 200 300 400 500 600 700
| | | | | | | |
| I I I | |
00 0 Imp.g.p.m. 100 200 300 400 500 600
H . e e s 300 H
T~
[m] ~2%/55, [ft]
80 =
4 N
T~ \250L3 ‘ ™S 250
\\06‘\ \\\
~ N
A - 200
60 ~
NPSH
[m] [ft] [~ %0
40 8 1
— ~—] 62
NPEH_ —T 4T ¥-100
— | 10
27 5
20
0 500 1000 1500 2000 2500 Q [I/min]
[ I I I I I I I I 1
0 20 40 60 80 100 120 140 160 Q [m3/h]
40 [ —
P2 e 250/376
=== I |
[kw] %0 e g B —
" o — = 250/306
p—
10
0 500 1000 1500 2000 2500 Q [I/min]
80
n ——— T 250/376
[%] 70 / ~ } }
250/306
60
50
0 500 1000 1500 2000 2500 Q [I/min]
Your Life, our Quality. Worldwide. 18 3 - 3L SERIES_60Hz



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

PERFORMANCE CURVES 3LM-3LS-3LP SERIES 80-160 at 2900 min- (according to ISO 9906 Attachment A)

0 USgpm. 200 400 600 800 1000 1200
| | | | | | |
| I I I I [
5 0 ImPgpm. 200 400 600 800 1000
160
R e H
[m] P s s ~ 140 4]
T ~.60,
~ 26 120
\\‘255 N
30 —100
\\\ N
\‘ \\
N h L 80
20
60
NPSH
[m] [ft] |40
10 10
NPSH — g ¥
p—— 6— 2020
4
, 10
0 0 g
0 1000 2000 3000 4000 Q [1/min] 5
| T T T T T | £
0 50 100 150 200 250 Q [m3/h] =
24 T T T §
Py 160,/226
20 | | E
[kW] [ ‘ ‘ g
160/18.56 5
16 —_— — / :
[ é
12 3
0 1000 2000 3000 4000 Q [1/min] 5
%0 T :
n 160,226 g
(%] 80 — ] |
- P :
- 160,/18.56 z
70 v 5
/
’ £
60 L
0 1000 2000 3000 4000 Q [1/min] s

Your Life, our Quality. Worldwide. 19 3 - 3L SERIES_60Hz



1 8l sanesal y'd'g 900ing sduwnd vdve3

Jnoyym ‘KIeSSa08U SWesp 1

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

PERFORMANCE CURVES 3LS-3LP SERIES 80-200 at 2900 min (according to I1SO 9906 Attachment A)

0 USgpm. 200 400 600 800 1000 1200
| | | | | | |
| | I I I [
5o 0_mP-gpm. 200 400 600 800 1000
— 250
H ===t H
[m] ~ " [#]
S S PR ~
60 = \1437 6 - 200
\\ 2 \ 7\
\\\00/\306 \
e = — I \ \
~~__ N L 150
TN 2 N
40 \00625 \‘\
N
~
\\‘\ 100
NPSH
™ [m] [1]
20 ] 8-
s | oA
p— —
% 4 —
& 10
2715
0 0
0 1000 2000 3000 4000 'Q [1/min]
[ I | I | I 1
0 50 100 150 200 250 Q [m3/h]
40 T T T
P2 — Boo/3as
[kW] i — ‘ /
—
20 —— 200/226
qum— | |
0 | |
0 1000 2000 3000 4000 Q [I/min]
90
n
[%] 80 ~
= ——
= T 2007378
70 7 ~ 200/306
200,/226 —
60 |
0 1000 2000 3000 4000 Q [1/min]
Your Life, our Quality. Worldwide. 20 3 - 3L SERIES_60Hz




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

PERFORMANCE CURVES 3LS-3LP SERIES 80-250 at 2900 min (according to I1SO 9906 Attachment A)

0 USgpm. 200 400 600 800 1000 1200
| | | | | | |
| I I I I [
0 Imp.gp.m. 200 400 600 800 1000
100 T——————
= !
! S~ 2 - 300
0
—_ ™ /55
m = ft
[m] " - 7‘\ f\ [ft]
S~ 2 N\ - 250
\ 0/ -
<55
\\
60 ~N < - 200
AN - 150
40
NPSH 100
[m] [ft]
20 8 2%
NPSH — 6~ 20|50
— P
10
215
0 0 g
0 1000 2000 3000 4000 Q [1/min] 5
| T T | T T | £
0 50 100 150 200 250 Q [m3/h] H
70 — ‘
P 250/556
50 L L Z
[kw] -—-—'—_'__ ‘ ‘ §
. T 250,/456
10 3
0 1000 2000 3000 4000 Q [1/min] H
80
n L —— 3
[%] 70 /{ — \\ uz
S NN | 2507556 :
60 N\, \ [ 8
AN ] E
250,/456 :
50 I | | é’
0 1000 2000 3000 4000 Q [1/min] E

Your Life, our Quality. Worldwide. 21 3 - 3L SERIES_60Hz



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

DIMENSIONS 3(L)M 32, 40-125/160/200, 50-125/160, 65-125/160

=}
=z
S

=
peg

S2
| b
s

T=NEN:
[ %

DI
P1
DN
NV Y
\

=NREE: = | oA &
\
Fig. 1 | il U | @Q PN
R C ‘ ‘ 4-915
W N1
ST %§ PN N2

M
s DIMENSIONAL TABLE
g Dimensions [mm] Weight
2 Model DN1 P1 | K1 | D1 $1 Z N2 P2 |K2|D2|S2|Fig./ H |H1|H2|H3| R |W|M | N1T|N2|A|B C V1 V2 [ka]
S 0 0,0|0 M2/ 0| 0| 0
£[32-125/2.26 [50 [ 95 [125]165] 16 [ 4 | - [32]75|100]140] 141 1 1252[112[140]124] 80 [70] 114|140 190|213 432 [244+255 - PG13,5 | 22,1
r|32-160/3.06 50 95 [125]165| 16 | 4 32175100140 14 ] 1 [292]132[160[124] 80 | 70 | 118190240254 |471|244+255 - PG135] 26,2
£ 132-160/4.06  [50] 95 [125]165[ 16 | 4 321751100140 14 ] 1 [292]132[160[141] 80 | 70| 118]190|240[254|494| 253 - PG16 | 345
#132-200/5.56 |50 95 [125]165] 16 | 4 321751100140 14 ] 1 [340]160[180[150] 80 | 70[119]190|240[296|519] 275 |PGI13,5| PG16 | 485
£132-200/7.56 [50] 95 [125]165] 16 | 4 321 75(100(140| 14| 1 [340[160[180|150| 80 | 70| 119]190(240]296|519| 275 |PG13,5| PG16 | 48,0
;3 40-125/3.06 |65 |115]145]185] 16 | 4 401 80 [ 110150 14| 1 [252 (112114011241 80 |70 | 114]160]210|213|471|244+255 - PG13,5] 23,0
;3 40-125/4.06 |65 |115]145[185] 16 | 4 40180 [110)150 [ 14 [ 1 [252[112]140)141] 80 |70 |114]160|210[213[494| 253 - PGT6 36,6
& 140-160/5.56 | 65|115]145/185] 16 | 4 40180 [110[150| 14| 1 1292[132]160]150] 80 [ 70 | 118]190|240|254|519| 275 |[PG13,5| PG16 423
5 [40-160/7.56 [ 65[115]145[185[ 16 | 4 40 1 80 [110[150] 14 1 1292[132[160[150] 80 | 70| 118]190]240254[519| 275 |PG135]| PG16 | 50,2
§ 40-200/116 65|115]145/185| 16 | 4 40 1 80 [ 110150 14| 2 |340[160|180[178[100] 70| 115]212]265|296[595| 359 |[PG13,5| PG21 62,0
¢ |50-125/556 |65 |115/145/185| 16 | 4 50195 [125/165] 16| 2 |292(132|160|150]100| 70 |114]190|240|2541539| 275 |PG135| PG16 | 439
£ [50-125/7.56 | 65|115[145][185] 16 | 4 50195 [125]165| 16| 2 [292]132]160]150|100|70|114[190(240[254|539| 275 |PG13,5| PG16 [ 505
§ 50-160/116 65 115[145[185| 16 | 4 | - [50] 95 |125[165|16] 2 [340[160|180|178|100|70|115]212|265[296|595| 359 |PG13,5| PG21 63,0
7 [65-125/5.56 |80 [134][160]200] 18 | 8 | 4 [65|115[T45[185] 16| 2 [340|160] 180 150] 10095 | 140]212[280]254[539] 275 |PGI13,5| PGT6 | 52,0
'g 65-125/7.56 | 80[134]160[200| 18 | 8 [ 4 | 65| 115]145[185[ 16| 2 |340[160|180[150(100]95[140|212]280|254 (539 275 |PG135| PG16 | 53,0
€ 165-160/9.26 | 80 |134]160/200| 18 | 8 | 4 |65[115]145[185/16] 2 [360|160]200|178|100]95140[212[280]296|595| 359 |PG13,5| PG21 55,9
¢ [65-160/116 801134[160(200| 18 | 8 | 4 [65|115]145[185|16] 2 |360|160[200|178|100|95|140]212[280[296|595| 359 |PG13,5| PG21 65,0
' [1] Standard [2] On request

Your Life, our Quality. Worldwide. 22 3 - 3L SERIES_60Hz



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

DIMENSIONS 3(L)M 40-200, 50-160, 65-160/200

296

S2

223

‘ 1 ‘
! ‘
DN1 ‘
ﬁiﬁﬁ\/
|
I

iﬁ }

st = Fig. y S
P allas : |
‘ Ll
100 ‘ 499.5 20
25 W L4
N2
i Vi 7-918
2-9¢15

—|

A I
| &
1 L Fige 2 g ]
o = g
c 254 25 %
P{} jl P §
4—p14 s
‘ & o 9 %
i i %
I I =
DIMENSIONAL TABLE L“;:
Dimensions [mm] Weight §
Model DN1| P1 | K1 | D1 | $1 z DN2| P2 | K2 |D2| S |Fig.| H |H1 |H2| W | M | N1 |N2| B C|L1|L2|13]L4| [kqg] g
0 0|0 |0 MRl o | 0| 0|0 H
40-200/156 65 [ 1151145]185] 16 | 4 - |40 [ 80 [ 110150 14 | 2 [340 160|180 | 70 [ 115]212| 265|723 |190,5 254 | 318 | 64 | 304 | 103,0 g
50-160/156 65 [ 1151145]185] 16 | 4 - |50 |95 [125]165] 16 | 2 [340 /160|180 | 70 [ 115]212265]723[190,5 254 1318 | 64 [304] 795 | £
65-160/156 80 [ 1341160200 18 | 8 4 165 [115[145[185] 16 | 2 [360[ 160200 | 95 [ 140 [ 212280 | 732 ]199,5/ 254 | 318 | 64 | 304 | 103,0 | £
65-200/156 80 [1341160]200| 18 | 8 4 165 [115[145[185| 16 | 1 [405[180(225| 95 [ 140250320732 - [254[314] 60 [345]106,0 | £
65-200/18.56 | 80 | 134 [ 160 [200| 18 | 8 4 165 [115[145]185] 16 | 1 [405[180]225] 95 [140(250(320(732| - [254|314] 60 [345]120,0 | 2
65-200/226 80 | 1341160200 | 18 | 8 4 165 [115]145]185] 16 | 1T [405[180|225] 95 [ 140|250 |320[732| - [254|314| 60 |345] 1280 | £
2

[1] Standard [2] On request

Your Life, our Quality. Worldwide. 23 3 - 3L SERIES_60Hz



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

DIMENSIONS 3LM 80-160/18.56 - 3LM 80-160/226

% 200
PG21
8-918
PG21
e 9 2
o
— — o~
oy T3]
5 | ’
=%
o T
LA@J—MF*
! A
3 ‘
o 4-¢15 | 65
250
499.5 | |20 320
757
‘ 345
8t ‘ + ¢/ﬂ>
Weight
80-160/18.56: 139,0 kg 2-¢15 <« o
80-160/226: 152,0 kg Q -
4 "
DIMENSIONS 3(L)S 32-125/2.26
477
9 140
9 75 9 213
932 M25x1.5 M20x1.5 4 - 918

148
140

252

” E%
— SR

u U} sensasal yd'g adoing sduwng yyyg3 Buipul

80 186 2 — #10 190

168

g4
Weight 4)\0
32-125/2.26: 31,4 kg q}

Your Life, our Quality. Worldwide. 24 3 - 3L SERIES_60Hz

901J0U JOI OUIM ‘AIBSS808U SLUasp ) Loieolpow Aue joaye
&
140




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

DIMENSIONS 3(L)S 32, 65-125/160/200

o
N
>

Vi V2

=
=
NG}

i
AW—W——W—WAL;g —

I

I5

)

s
O
- N
&P
D1
P1
!
@« ‘ DN1
T
b
H4
~
A
[00]

— N
— .4 -
i DN1
; Il L] | ‘ ‘
T 1 1
RS W R ‘ C ‘ F H 4 - 915
M W N1
[1_ 1
s I jt ‘ = N2
| c | ol
— —
1] H
I I
I 3 :
|
@ TTT F‘g 3 \\\
- H -
! 329 241 ‘ 245
25 | |95
140 K 0 -9
4014
| 300 | o=
! ! ol ™M

DIMENSIONAL TABLE

Dimensions [mm] Weight
Model [DN1|P1|K1|D1|S1| Z |DN2|P2|K2|D2|S2 |Fig.. H |[H1|H2|H3|H4| R |[W|M|N1|N2|A|B|C|F|G|Q|L1|L2|L3| V1 V2 [kq]
Q10 00 [1][[2]]| @
32-160/3.06 | 50 |95 125165/ 16| 4 | - | 32 |75]100]140[ 14 | 1 [292|132[160]155] 32 | 80 | 70 [118]190[240]254/528]388| 15 |220] 12 [160/200] 40 [M25x1,5|M20x1,5] 38,4
32-160/4.06 | 50 |95 |125[165] 16| 4 32 |75]100]740] 14 | 1 ]292|132[160[171] 20| 80 | 70 |118]190[240[254/550[395| 15 |220] 12 [190]240| 50 [M25x1,5|M20x1,5] 40,0
32-200/5.56 | 50 |95 |125[165] 16| 4 32 [75]100]140] 14| 1 [340[160[180/198] 28 | 80 [ 70 [119]1901240300/607/479] 15 [270] 12 216266 50 [M32x1,5|M32x1,5] 71,8
32-200/7.56 | 50 195[125]165/ 16| 4 | - | 32 | 75]100/140/ 14| 1 [340[160[180/198] 28 | 80 | 70 [119]190[240300[607/479] 15 [270] 12 [216[266] 50 [M32x1,5|M32x1,5] 85,0
65-125/5.56 | 80 |134{1601200[ 18| 8 | 4 | 45 |115[145/185] 16 | 2 [340]160]180/198| 28 |100] 95 |140[212(280[300[627|479] 15 [270] 12 |216[266| 50 |M32x1,5|M32x1,5] 60,0
65-125/7.56 | 80 |134]1601200] 18] 8 | 4 | 45 |115/145/185 16 | 2 [340]160[180]7198| 28 |100] 95 [140[212(280]300627|479| 15 |270] 12 [216/266] 50 [M32x1,5|M32x1,5] 77,4
65-160/9.26 | 80 |134]1601200] 18] 8 | 4 | 45 |115/145[185[ 16| 2 [360/160]200/7198| 28 [100] 95 [140[212280[300/667|479| 15 |270] 12 [216]266] 50 [M32x1,5]M32x1,5] 87,0
65-200/156 | 80 |134]1601200] 18 8 | 4 | 45 |115/145/185 16 | 2 |405|180225[238| 20 [100] 95 [140[250320[350806|621] 20 |350[ 14 [254314] 60 |[M40x1,5[M40x1,5] 121,1
65-200/18.56 80 [134]1601200] 18] 8 | 4 | 45 |115[145[185] 16 | 2 |405|180]225[238| 20 [100] 95 |140[2501320]3508501621] 20 |350] 14 [254314] 60 |M40x1,5[M40x1,5] 130,7
65-200/226 | 80 [134]160[200[ 18| 8 | 4 | 45 [115]145[185] 16| 3 |405/180[225[268] - |100] - | - |25013201360/885] - [ - | - [ - | - [ - | - [M32x1,5|M32x1,5] 168,0

The contents of this publication must not be regarded as binding. EBARA Pumps Europe S.p.A. reserves the right to effect any modification it deems necessary, without prior notice.

[1] Standard [2] On request

Your Life, our Quality. Worldwide. 25 3 - 3L SERIES_60Hz



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
DIMENSIONS 3(L)S 40, 50, 65-160

=
S,

H2

H1

R 4-¢19 N3

DIMENSIONAL TABLE

Dimensions [mm] Weight
Model DN1| P1 | K1 | D1 S1 z DN2| P2 | K2 |D2|S2 | H |H1|H2|H3| R | W |N1T|N2|N3|A|B|E|F Vi V2 [kl
0 0 0|0 |21 0| 0|0 |0
40-125/3.06 65 [115]145]185| 16 | 4 40 | 80 | 1101150 14 [294 1112|140 [155] 80 | 90 | 180|240 60 250528500 |563 [M25x1,5|M20x1,5| 34,5
40-125/4.06 65 [115]145|185[ 16 | 4 40 | 80 [ 1101150 14 1294[112[140|171] 80 | 90 |180]240| 60 |250]550(500 | 585 [M25x1,5|M20x1,5| 44,6
40-160/5.56 65 [115]145[185| 16 | 4 40 | 80 [ 110150 14 [334]132]160|198 ] 80 | 110 [210]270]| 60 [300]607|600 |662 [M32x1,5|M32x1,5] 71,2
40-160/7.56 65 [115]145]185| 16 | 4 40 [ 80 |110]150] 14 [334[132[160]198] 80 | 110 [210[270| 60 |300|607|600 662 [M32x1,5[M32x1,5] 79,0
40-200/116 65 [115]145]185| 16 | 4 40 [ 80 |110]150] 14 [382[160]180[238]100| 110 [240[310| 70 |350|796|720 831 [M40x1,5[M40x1,5] 107,0
40-200/156 65 [115]145|185] 16 | 4 40 1 80 [110]150| 14 |382]160(180|238]100| 110 |240]310| 70 |350] 796720 |831 |[M40x1,5/M40x1,5] 131,0
50-125/5.56 65 [115]145/185| 16 | 4 50 | 95 [125]165] 16 [334[132]160]198|100| 110 |210|270| 60 | 300|627 |600|662 |[M32x1,5|M32x1,5| 62,8
50-125/7.56 65 [115]145|185[ 16 | 4 50 [ 95 [125[165[ 16 [334[132[160]198|100| 110 |210]270| 60 [300|627 600|662 [M32x1,5[M32x1,5] 88,0
50-160/116 65 [115]145|185| 16 | 4 50 | 95 [125]165] 16 [382|160] 180|238 |100| 110 [240|310| 70 |350|796 720|831 [M40x1,5|M40x1,5] 75,0
g 50-160/156 65 [115]145[185|/ 16 | 4 | - [ 50 | 95 |125[165] 16 [382|160|180]238]100| 110 [240|310] 70 |350|796 720|831 |[M40x1,5/M40x1,5] 103,0
2 165-160/116 80 [134]160)200] 18 | 8 | 4 |65 [115]145]185] 16 |402]160]200|238|100122,512401310| 70 |350 796|720 |844 [M40x1,5|M40x1,5] 76,0
g 65-160/156 80 [134]1601200] 18 | 8 | 4 | 65 [115]145[185] 16 |402]160]200]238]100122,51240]310] 70 |350|806 | 720 [ 854 [M40x1,5|M40x1,5] 104,0
% [1] Standard [2] On request
% DIMENSIONS 3LS 80-160/18.56
g 9 200
§ 9 135 o5 s 175
f: DNSQ M40x1.5 8918 2-63/8
. | icIe) ‘
Z% t m U 8 %‘ g
§ Y i TT
g 2 ‘JLJ S s H 85
il 125 250
g 125 621 20 320
875

350

Weight
80-160/18.56: 144,7 kg

*80jJ0u Joud Jnoyjm “AIESSBOBU SWBBP }f UO!

Your Life, our Quality. Worldwide. 26 3 - 3L SERIES_60Hz



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
DIMENSIONS 3LS 65-250, 80-160/200
B
D2
P2 Vi V2
N DN2, A

H3
H2

H1

i (D
4-919 N3
N1
25 N2
DIMENSIONAL TABLE
Dimensions [mm] Weight
Model |DN1|/P1|K1|D1(S1| DN2 |P2|D2|S2| H |H1|H2|H3|H4H5/ R | W |N1|N2| M M1 L |L1|L2|L3|L5|A1|A2| B | C |F1| G |D3[D5] VA1 V2 [kl
0 0|0|0 o 0|0
65-250/306 | 80 [135[160] 20022165 Fig.1]120[185]20]450[200[250]300[ 15[25]100[120[280[360] 1601 80 [305[318]388]80|358[200[200]966(341[21,5399] 19] 17]M40x1,5 [M40x1,5] 303,0
65-250/376 | 80 [135]160] 200 [22]65 Fig.1]120[185|20[450]200[250(300] 15]25]100[120]280[360] 160] 80|305/318|388/80(358|200/200]966]341121,5399| 19| 17| M40x1,5 | M40x1,5| 320,0
80-160/226 | 100[155]180] 2252480 Fig.2 |135]200]22[405]180[225[268] 13]27]125] 95 [250[320]125[65|241]279]34875[300]175[175]910[329124,5360 15] 14| M32x1,5 [M32x1,5] 200,0
80-200/226 | 100 [155]180] 225 24|80 Fig.2[135/200]22 |430[180]2501268| 13]27]125] 95 [280]345|125[65[241|279|348]75|300[ 175/182|910|32924,5360 15| 14| M32x1,5[M32x1,5] 200,0

DIMENSIONS 3LS 80-200/250

8 200

DIMENSIONAL TABLE

Model Dimensions [mm] Weight
H | H1T|H2 | H3 |HA|HS | W |NT |N| M| M| L |LT|L2|L5|A1T|A2]| B C| 1| G |D3 V1 V2 [kg]
80-200/306 | 450 [ 200 [ 250 [ 300 | 20 [ 25 | 95 | 280 [ 360 [ 130 | 80 | 305 | 318 [ 388 | 358 [ 200 | 200 [ 991 [ 341 [21,5]399 | 14 |M40x1,5M40x1,5 306,0
80-200/376 | 450 [ 200 | 250 | 300 | 20 | 25 | 95 | 280 | 360 | 130 | 80 | 305 | 318 | 388 | 358 | 200 | 200 | 991 | 341 [21,5] 399 | 14 |M40x1,5M40x1,5 325,0
80-250/456 | 505 [ 225280 [ 335 | 25 | 28 | 120 | 315 415 [ 165 | 100 | 311 | 356 | 436 | 386 | 225 | 225 [1060| 385 [ 37,5 ] 465 | 18 |M50x1,5M50x1,5] 401,0

$ 135 V1 V2 Al A2
s
/ g
N 2N8g, 2-G3/8 El
o I T (‘ é
g
1@/
£
e g
pe - 2
L g §
2
T - 5
g 8 - = o o g
o = s s180 ]
; —<0 8
: = 2
< T £
r‘@ b z
3
‘ i i g
5
‘ 2
0| £
W = 4-9D3 M1 2
| 2
M i ¢
125 ‘ c L Fi N2 g
=
3
B 5
2
g
L5 =
2
£
e
E
I |+ o —
2
4017 £
S
2

o

] | 3
e ——— 4 £
o
3
g
]
g
5
g
=]
2
s
5
8
2

Your Life, our Quality. Worldwide. 27 3 - 3L SERIES_60Hz



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

DIMENSIONS 3LS 80-250/556

275 ‘ 275
2-63/8
5 8918
: o
0o
% N
©
Q % i o
o~ — _—— —_ —1 1 ©
sl = Y o
@@0 §
]
| 2
| | f
| ‘ ‘
3 “ 4-¢19 o
315
26 405
1151
500
S /{t}
2-024
8 8
| wign A i
S| 80-250/556: 489,0 kg

SWwaap J UOEOYIPOL AUe 108y 0} 1yPu 8y} senssa) “yd'S adoing sduwng a3 “Buipuig se papiebal ag 1ou 1snuw

“801j0u Joud Jnouym ‘Aessaoceu

Your Life, our Quality. Worldwide. 28 3 - 3L SERIES_60Hz



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

DIMENSIONS 3(L)P 32, 40, 50, 65-125/160/200

b

H2

D1
P1

H1

50

—

Only for 32-200/5.56/7.56 7_418
40-160,/5.56 /7.56

DIMENSIONAL TABLE

Dimensions [mm] Weight] £
Model DN1| P1 | K1|D1| 1 Z DN2| P2 |K2|D2|S2| H |[H1|H2|H3| R|A| B |B1|D | E|[NT|N2|N3| T L V1 V2 [kal | &
0|0 0|0 MR 0 | 0|0|0 :
32-125/2.26 | 50 [ 95 |125/165/ 16| 4 | - | 32 | 75]100]140] 14 1302|112]140|148| 80 [213] 760 [317{ 80 [550|300|340]250| 710 | 760 |M25x1.5|M20x1.5| 52,5 §
32-160/3.06 | 50 | 95 125|165/ 16| 4 32 [ 75[100]140] 14 |342]132{160]155] 80 |254) 809 |366| 80 |590|350|390|300] 750 | 809 |[M25x1.5|M20x1.5] 70,5 | &
32-160/4.06 50 |95 |125]165| 16| 4 32 | 75[100[140] 14 [342[132]160[171] 80 |254| 831 |388] 80 [590|350(390[300 750 [ 831 [M25x1.5[M20x1.5] 74,1 |<
32-200/5.56 | 50 [ 95 [125|165| 16| 4 32 [ 75[100]140] 14 1390|160|180(198] 80 [296| 885 |442|100|650/350{390|300] 850 | 905 |[M32x1.5|M32x1.5] 97,0 | =
32-200/7.56 | 50 [ 95 [125|165| 16| 4 32 | 75[100/140] 14 1390/160[ 180|198 80 [296| 885 |442/1001650/350]390/300] 850 | 905 |[M32x1.5|M32x1.5| 110,2 | &
40-125/3.06 | 65 |115[145]185] 16 | 4 40 |80 [110]150] 14 1302]112]140]155] 80 |213]809 |366| 80 |590/300/340]250| 750 | 809 M25x1.5|M20x1.5] 80,0 | £
40-125/4.06 | 65 |115]145[185] 16 | 4 40 | 80 |110[150] 14 1302[112|140[171] 80 |213] 831 |388| 80 [590/300(340|250| 750 | 831 [M25x1.5[M20x1.5] 66,6 | =
40-160/5.56 | 65 |115]145]185] 16 | 4 40 [ 80 [110]150] 14 [342]132]160]198] 80 [254| 885 [442[100][650/350[390/300] 850 | 905 [M32x1.5|M32x1.5] 97,0 | &
40-160/7.56 65 [115/145/185] 16 | 4 40 [ 80 [110[150] 14 [342[132]160[198] 80 [254] 885 |442]100]650/350{390]300] 850 | 905 [M32x1.5[M32x1.5] 1039 | £
40-200/116 65 |115]145]185] 16 | 4 40 |80 [110/150] 14 [390|160]180(238]100/296|1071|608|100/800|380|420|330{1000{1071|M40x1.5|M40x1.5] 1170 | &
40-200/156 65 [115]145[185] 16 | 4 40 [ 80 [110]150] 14 1390|160 180(238]100[296|1071/608|100|800]380420]330|1000(107T|M40xT.5|M40xT5] 118,0 | 5
50-125/5.56 | 65 [115]145]185] 16| 4 50 |95 [125]165] 16 [342[132[160]198]100]254] 905 |442]100]650(350{390]300] 850 | 905 |[M32x1.5/M32x1.5] 98,0 | &
50-125/7.56 | 65 [115/145]185| 16| 4 50 95 [125]165| 16 |342[132]160]198|100(254| 905 |442[1001650{350(390|300| 850 | 905 [M32x1.5[M32x1.5| 104,9 Eﬁ(
50-160/116 65 [115]145/185] 16| 4 50 | 95 [125]165] 16 [390[160]180]238]100/296|1071]608100[800(380(420([330/1000{1071]|M40x1.5|M40x1.5] 116,5 | &
50-160/156 65 [115]145]185[ 16 | 4 | - | 50 [ 95 [125[165] 16 [390]160|180(238]100]296|1071/608|100/800/380|420]330/1000|1071|M40x1.5[M40x1.5] 1175 | £
65-125/5.56 | 80 [134[160[200| 18 | 8 | 4 | 65 [115[145]185] 16 |390]160]180|198|100|254| 905 |442|100(650{350(390(300] 850 | 905 [M32x1.5|M32x1.5] 99,0 | £
65-125/7.56 | 80 [134]160/200] 18 | 8 | 4 | 65 [115]/145]185] 16 |390/160]180|198|100|254| 905 [442[100]650|350(/390]300| 850 | 905 [M32x1.5|M32x1.5| 107,4 §
65-160/9.26 | 80 |134]160]200] 18 | 8 | 4 | 65 |115]145[185] 16 |410]160(200]198]100]296| 945 |482]100/650|350|390/300] 850 | 945 |[M32x1.5[M32x1.5] 117,0 | 2
65-160/116 80 [134]1601200] 18 | 8 | 4 | 65 [115[145/185[ 16 [410/160/2001238]100(296/1071/608|100(800(380(420(330{1000{1071|M40x1.5[M40x1.5 114,0 | =
65-160/156 80 [134]160/200] 18 | 8 | 4 | 65 |115][145/185] 16 [410/160(200/238]100(296|1071]608|100[/800(380(420(330/1000[1071|M40x1.5|M40x1.5] 112,1 5%
65-200/156 80 |134]160(200] 18| 8 | 4 | 65 |115/145[185] 16 |455|180|225/238]100(296/1071/608|100]800|380(420|330|1000|1071|M40x1.5|M40x1.5] 120,1 | £
65-200/18.56 | 80 [134]160/200| 18 | 8 | 4 | 65 [115]145]185] 16 [455/180/225|238]100(296|1115(652]100|800/3801420/330(1000{1115|M40x1.5|M40x1.5] 128,7
65-200/226 80 [134]160(200] 18| 8 | 4 | 65 [115]145/185] 16 |455[180]225[268]1001296/1150/687|100|800(410(450|360(1000|1150[{M32x1.5/M32x1.5| 182,0

The contents of this

[1] Standard [2] On request

Your Life, our Quality. Worldwide. 29 3 - 3L SERIES_60Hz




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

DIMENSIONS 3LP 65-250, 80-160/200

D1
P1

DIMENSIONAL TABLE

Model Dimensions [mm] Weight
DN1/ P1|K1|D1|S1| DN2 |P2|D2|S2| H |H1|H2|H3|H4| R |[N1T|N2|N3| B |B1|C |G| E T |S|D4|Sp.| VI V2

65-250/306 | 80 [135[160]200] 22 [65 Fig.1[120[185[ 20 [510[200]250{300] 60 [100[530]590[460]1341/399]470[768]1000]1200] - [19] 8 |M40x1.5M40x1.5] 354,0
65-250/376 | 80 [135]160200] 22 |65 Fig.1]120]185] 20 |510]200|250{300| 60 |100{530|590{460|1341(399|470{768|1000]{1200] - | 19| 8 |M40x1.5M40x1.5] 373,0
80-160/18.56 | 100]155]180]225] 24 |80 Fig.2| 1352001 22 |455[180]225[238] 50 [125]380|420{330]1140[317|360]652| 800 [1000] 20 | 15| 5 |M40x1.5M40x1.5] 174,7
80-160/226 | 100]155[180]225] 24 [80 Fig.2[135]200] 22 [455[180]225[268] 50 [125]410]450[360]1175/360(360[687] 800 [1000] - [ 15[ 5 [M32x1.5M32x1.5] 250,0
80-200/226 | 100]155[180]225] 24 [80 Fig.2[135]200] 22 [490[180]250[268] 60 [125]530]590[460]1285/360]470[687]1000]1200] - [ 19] 8 [M32x1.5M32x1.5] 252,0
DIMENSIONS 3LP 80-200/250

El B

% ® 200 B1

g 9155 vi v2

| oG]

3 24

BT :

A | ==

hl Co—

H ‘ |

:é;) 125 470 4-919 UV OGT 460

% 100 1000 530

g

i 1200 590

% DIMENSIONAL TABLE

§ Dimensions [mm] Weight

£ Model H H1 H2 H3 B B1 G s V1 V2 lkg]

£ [80-200/306 510 180 250 300 1366 768 399 20 M40x1.5 M40x1.5 356,0

< 1 80-200/376 510 180 250 300 1366 768 399 20 M40x1.5 M40x1.5 365,0

& [80-250/456 565 200 280 335 1407 809 465 25 M50x1.5 M50x1.5 440,0

Your Life, our Quality. Worldwide. 30 3 - 3L SERIES_60Hz



DIMENSIONS 3LP 80-250/556

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

24 —
o
i}
o
0o
o~
— g
'e] wn o
N w2 o
L =2 i > .
=z A=Y o
A=Y S [l [t
o
o
o™~
o
'e)
'Y
~

Your Life, our Quality. Worldwide.

31 3 - 3L SERIES_60Hz

jon it deems necessary, withol

ist not be regarded as binding. EBARA Pumps Europe S.p.A. reserves the right to effect

of this publication mu:



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
Joint for 3(L)S - 3SF SERIES
L
b Set screws UNI EN 1SO 4029
A ) \\
, - S T[]
L1 ‘
- = e —— Y 2
DIMENSIONAL TABLE
Motor Dimensions [mm]

Model [HP] [lkw] size d d1 d2 d3 M L b h Screws
32-125/2.26 3 2,2 90 19 22 24 39 M16x1,5 110 53 8 27,3 M8x8
32-160/3.06 4 3 100 19 22 28 43 M16x1,5 122 63 8 31,3 M8x8
32-160/4.06 55 4 112 19 22 28 43 M16x1,5 122 63 8 31,3 M8x8
32-200/5.56 75 55 132 19 22 38 58 M16x1,5 145 84 10 41,3 M8x8
32-200/7.56 10 75 132 19 22 38 58 M16x1,5 145 84 10 41,3 M8x8
40-125/3.06 4 3 100 19 22 28 43 M16x1,5 122 63 8 31,3 M8x8
40-125/4.06 5,5 4 112 19 22 28 43 M16x1,5 122 63 8 31,3 M8x8
40-160/5.56 75 5.5 132 19 22 38 58 M16x1,5 145 84 10 41,3 M8x8
40-160/7.56 10 75 132 19 22 38 58 M16x1,5 145 84 10 41,3 M8x8
40-200/116 15 11 160 19 22 47 63 M16x1,5 178 114 12 45,3 M8x8
40-200/156 20 15 160 19 22 42 63 M16x1,5 178 114 12 45,3 M8x8
50-125/5.56 75 55 132 19 22 38 58 M16x1,5 145 84 10 41,3 M8x8
50-125/7.56 10 75 132 19 22 38 58 M16x1,5 145 84 10 41,3 M8x8

=1 50-160/116 15 11 160 19 22 42 63 M16x1,5 178 114 12 45,3 M8x8
g | 50-160/156 20 15 160 19 22 42 63 M16x1,5 178 114 12 45,3 M8x8
% 65-125/5.56 75 55 132 19 22 38 58 M16x1,5 145 84 10 41,3 M8x8
Z [65-125/7.56 10 75 132 19 22 38 58 M16x1,5 145 84 10 41,3 M8x8
= | 65-160/9.26 12,5 9,2 132 19 22 38 58 M16x1,5 145 84 10 41,3 M8x8
g 65-160/116 15 11 160 19 22 42 63 M16x1,5 178 114 12 45,3 M8x8
% | 65-160/156 20 15 160 24 30 42 63 M20x1,5 184 114 12 45,3 M8x8
g | 65-200/156 20 15 160 24 30 42 63 M20x1,5 184 114 12 45,3 M8x8
g 65-200/18.56 25 18,5 160 24 30 47 63 M20x1,5 184 114 12 45,3 M8x8
¢ 165-200/226 30 22 180 24 30 48 72 M20x1,5 184 114 14 51,8 M10x10
£ | 65-250/306 40 30 200 24 30 55 85 M20x1,5 184 114 16 59,3 M12x12
; 65-250/376 50 37 200 24 30 55 85 M20x1,5 184 114 16 59,3 M12x12
% 80-160/18.56 25 18,5 160 24 30 42 63 M20x1,5 184 114 12 45,3 M8x8
£ |80-160/226 30 22 180 24 30 48 72 M20x1,5 184 114 14 51,8 M10x10
£ | 80-200/226 30 22 180 24 30 48 72 M20x1,5 184 114 14 51,8 M10x10
E, 80-200/306 40 30 200 24 30 55 85 M20x1,5 184 114 16 59,3 M12x12
= | 80-200/376 50 37 200 24 30 55 85 M20x1,5 184 114 16 59,3 M12x12
¢ 1 80-250/456 60 45 225 29 35 55 85 M24x2 206 114 16 59,3 M12x12
;3 80-250/556 75 55 250 29 35 60 89 M24x2 218 144 18 64,4 M12x12

*80jJ0u Joud Jnoyjm “AIESSBOBU SWBBP }f UO!

Your Life, our Quality. Worldwide. 32 3 - 3L SERIES_60Hz



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

Joint for 3(L)P SERIES

= S
PUMP SIDE PUMP SIDE MOTOR SIDE MOTOR SIDE
DIMENSIONAL TABLE
. Dimensions [mm]

Model [HP] [kw] Motor size di b1 h a2 b2 h2
32-125/2,26 3 2,2 90 24 8 27,3 24 8 273
32-160/3,06 4 3 100 24 8 27,3 28 8 31,3
32-160/4,06 55 4 112 24 8 27,3 28 8 31,3
32-200/5,56 7,5 5,5 132 24 8 27,3 38 10 413
32-200/7,56 10 7,5 132 24 8 27,3 38 10 413
40-125/3,06 4 3 100 24 8 27,3 28 8 31,3
40-125/4,06 55 4 112 24 8 273 28 8 31,3
40-160/5,56 7,5 5,5 132 24 8 273 38 10 413
40-160/7,56 10 7,5 132 24 8 27,3 38 10 413
40-200/116 15 11 160 24 8 273 42 12 453
40-200/156 20 15 160 24 8 27,3 42 12 453
50-125/5,56 75 55 132 24 8 27,3 38 10 41,3
50-125/7,56 10 7,5 132 24 8 27,3 38 10 413
50-160/116 15 11 160 24 8 273 42 12 453 s
50-160/156 20 15 160 24 8 27,3 42 12 453 g
65-125/5,56 7,5 5,5 132 24 8 27,3 38 10 41,3 g
65-125/7,56 10 7,5 132 24 8 27,3 38 10 413 5
65-160/9,26 12,5 9,2 132 24 8 2773 38 10 413 2
65-160/116 15 11 160 24 8 273 42 12 453 %
65-160/156 20 15 160 24 8 273 42 12 453 3
65-200/156 20 15 160 24 8 27,3 42 12 453 5
65-200/18,56 25 18,5 160 24 8 27,3 42 12 453 s
65-200/226 30 22 180 24 8 273 48 14 51,8 <
65-250/306 40 30 200 32 10 35,3 55 16 59,3 3
65-250/376 50 37 200 32 10 35,3 55 16 59,3 s
80-160/18,56 25 18,5 160 24 8 27,3 42 12 453 H
80-160/226 30 22 180 24 8 27,3 48 14 51,8 g
80-200/226 30 22 180 32 10 353 48 14 51,8 g
80-200/306 40 30 200 32 10 35,3 55 16 59,3 &
80-200/376 50 37 200 32 10 35,3 55 16 59,3 g
80-250/456 60 45 225 32 10 35,3 55 16 59,3 g
80-250/556 75 55 250 32 10 35,3 60 18 64,4 Eﬁi

8
<

Your Life, our Quality. Worldwide. 33 3 - 3L SERIES_60Hz



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

SECTIONAL VIEW 3(L)M SERIES 32, 40, 50, 65 - up to 11 kW

1\ 4 26 72 56 16 17 58 6 12 21
| N )f L]
T \;% 14
= M
l =
» —T 15
32 | N 8 L / | .
rﬁ T : |
o ? ] B 101
\l g T ]
S ﬂi@
= \ 15
25 200 11 3 235 18 92 19 22 42 20 13

SECTIONAL VIEW 3(L)M 32, 40, 50, 65 SERIES - from 15 kW and over

e
) ek }ﬁa

2l ayL

uopeaygnd siu} Jo sjusluod

I

3

é

: , dl
i

[==

7 \

i ‘

= s H
1 | k — — J

2

N |

g e

é H=

&

g ‘ ] T

% | | | “

g i T

244

Your Life, our Quality. Worldwide. 34 3 - 3L SERIES_60Hz



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
MATERIALS TABLE
Ref. Name Materials
3M 3LM
001 Pump casing EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
003 | Motor bracket 12]
004 | Casing cover N 1.4307 (AISI 304) EN 1.4404 (AISI 316L)
006 | Shaft EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
007 Impeller N 1.4301 (AISI 304) [4] EN 1.4404 (AISI 316L) [4]
011 | Mechanical seal Carbon/Ceramic/NBR SiC/SIC/FPM
012 | Motor frame -
013 | Motor cover Aluminium
014 |Fan PA

015 | Fan cover

Galvanised steel Fe P04

016 | Terminal box

017 | Terminal box cover

Aluminium (three phase version)

018 | Spray protector washer NBR

019 | Bearing (pump side)

020 | Bearing (motor side) -

021 | Adjusting ring Steel C70

022 | Tie-rod Galvanised steel Fe 42

025 |Plug EN 1.4401 (AISI 316) / PTFE

026 | O-Ring NBR [3] \ FPM
032 Key N 1.4407 (AISI 316)

034 |Impeller nut

A.270 EN 150 35062 [5]

042 | Motor support

Aluminium / Galvanised Steel

056 | Terminal box gasket

058 | Cable gland

072 | Casing ring [1]

EN 1.4307 (AISI 304)

N 1.4404 (AISI 316L)

073 | Casing ring

092 [Sealring

EN 1.4307 (AISI 304)

EN 1.4404 (AISI 316L)

093 | Sealring

10T | Seegerring

Carbon steel TC 80

200 [ Screw (pump body)

Stainless steel A2 70 class 1SO 3506/1

206 | Screw (bracket) [6]

Zincate steel 8.8 strenght class 15O 898/1

235 | Washer

EN 1.4307 (AISI 304)

244 | Pin[7]

\ EN 1.4301 (AISI 304)

[1l=

[2]=

[3]= FPM for H, HS, HW, HSW versions, EPDM for E version
[4]= EN 1.4401 (AISI 316) for 3(L)M 65

[5]=

[6]=

7=

For 3(L)M 65 from 15kW and above only
For 3(L)M 65-160/156 and 65-200 only

EN 1.4301 (AISI 304) for 3M 65, EN 1.4404 (AISI 316L) for 3LM 65

For 32-200/5.56, 32-200/7.56, 40-200/5.5, 40-200/116, 40-200/156, 50-160/116, 50-160/156 models
Aluminium EN 1706 AC 46000 D for 40-200/116, 40-200/156, 50-160/116, 50-160/156, 50-200/9.26, 50-200/116, 65-160/9.26, 65-160/116 models, cast iron EN-GJL-200-EN 1561 for other models

Your Life, our Quality. Worldwide.

35

3 - 3L SERIES_60Hz

The contents of this publication must not be regarded as binding. EBARA Pumps Europe S.p.A. reserves the right to effect any modification it deems necessary, without prior notice.



0 SJUBILOD BU].

jeoypow Aue Joays o} 1yBu e senesal y'd'g adoing sdwnd yeya3 “Bupuiq se papsebs aq 1ou snw uogeagnd sy}

*80jJ0u Joud Jnoyjm “AIESSBOBU SWBBP }f UO!

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
SECTIONAL VIEW 3LM 80-160
/52 4 26 5 18 206 56 16 17 58 12 135 14 75 24 7]
-
| |
|
125 76 78 34 11 235200 244 92 19 6 42 22 20 21 93 230 201
200A
MATERIALS TABLE
Ref. Name Materials Ref. Name Materials
001 | Pump casing EN 1.4401 (AISI 316) 026 | O-Ring FPM
003 | Motor bracket Cast iron EN-GJL-200-EN 1561 032 [Key EN 1.4401 (AISI 316)
004 | Casing cover EN 1.4404 (AISI 316L) 034 | Impeller nut EN 1.4404 (AISI 316L)
; EN 1.4404 (AISI 316L) - -
006 | Shaft with rotor Part in contact with the ﬁquid 042 | Motor support Aluminium
007 | Impeller EN 1.4401 (AISI 316) 056 | Terminal box gasket NBR
011 | Mechanical seal SIC/SIC/FPM 058 | Fasting nut -
012 | Motor frame with stator - 075 | Washer EN 1.4404 (AISI 316L)
013 | Motor cover Aluminium 076 | Washer EN 1.4404 (AISI 316L)
014 [Fan PA 077 ] 0O-Ring FPM 2]
015 | Fan cover Galvanised steel Fe P04 078 | O-Ring
016 | Terminal box - 092 | Sealring
017 | Terminal box cover Aluminium 093 [ Sealring -
078 | Spray protector washer NBR 200 | Screw Stainless steel A2-70 class 1SO 3506/1
079 | Bearing (pump side) - 200A | Screw Stainless steel A2-70 class 1SO 3506/1
020 | Bearing (motor side) - 201 | Screw Zincate steel 8.8 strenght class 1SO 898/1
021 | Adjusting ring Steel C70 206 | Screw for bracket Zincate steel 8.8 strenght class IS0 898/1
022 | Screw Zn. Steel 8.8 strenght class SO 898/1 | 230 | Washer Galvanised Steel
024 | Plug EN 1.4404 (AISI 316L) 235 | Washer EN 1.4301(AISI 304)
025 |Plug EN 1.4404 (AISI 316L) 244 | Plug[1] EN 1.4301(AISI 304)
[1]= Not for H, HW, HSW, E version
[2]= EPDM for E version
Your Life, our Quality. Worldwide. 36 3 - 3L SERIES_60Hz



3 - 3L SERIES

. CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

SECTIONAL VIEW 3(L)S 32, 40, 50

73 34 32 25 200 72 6 42 1

SECTIONAL VIEW 3(L)S 65-125/160/200

urope S.p.A. reserves the right to effect any modification it deems necessary, without prior notice.

Your Life, our Quality. Worldwide. 37 3 - 3L SERIES_60Hz



jeoypow Aue Joays o} 1yBu e senesal y'd'g adoing sdwnd yeya3 “Bupuiq se papsebs aq 1ou snw uogeagnd sy}

*80jJ0u Joud Jnoyjm “AIESSBOBU SWBBP }f UO!

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
MATERIALS TABLE
Ref. Name Materials
35 3LS
001 | Pump casing EN 1.4307 (AISI 304) EN 1.4404 (AISI 316L)
003 | Motor bracket Cast iron EN-GJL-200-EN 1561
003A | Adapter ring [1] Cast iron EN-GJL-200-EN 1561
004 | Casing cover EN 1.4307 (AISI 304) EN 1.4404 (AISI 316L)
006 | Joint - Part in contact with the liquid EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
007 [ Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
011 [ Mechanical seal Carbon/Ceramic/NBR SIC/SIC/FPM
012 | Motor -
025 | Plug EN 1.4401 (AISI 316) / PTFE
026 | O-Ring NBR [4] \ FPM
032 | Key EN 1.4401 (AISI 316)
034 [ Impeller nut EN 1.4307 (AISI 304) \ EN 1.4404 (AISI 316L)
042 | Motor support Aluminium / Galvanised Steel
044 | Support protection EN 1.4301 (AISI 304)
072 | Casing ring [2] EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
073 [ Gasing ring (not for 65) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
200 | Screw (pump body) Stainless steel A2 70 class ISO 3506/1
201 | Screw Zn. Steel 8.8 strenght class IS0 898/1
206 | Support screw Zn. Steel 8.8 strenght class IS0 898/1
206-2 | Adapter ring screw [5] Zn. Steel 8.8 strenght class IS0 898/1
235 | Washer Stainless steel A2 70 class ISO 3506/1
244 | Plug [3] \ EN 1.43071 (AISI 304)

[1]= For 65-125/5.56 and 65-125/7.56 versions only
[2]= For 32-200, 40-200, 50-160 versions only
[3]= For 65-160/156, 65-200 versions only
[4]=
=

[5]= For 65-125/5.56 and 65-125/7.56 versions only

SECTIONAL VIEW 3LS 80-160

FPM for H, HS, HW, HSW versions and EPDM for E version

[ 1

o ol
——

75 24

77

235 200 244 6
200A

7%

1

MATERIALS TABLE
Ref. Name Materials Ref. Name Materials
00T | Pump casing EN 1.4401 (AISI 316) 034 [ Impeller nut EN 1.4404 (AISI 316L)
003 | Motor bracket Cast iron EN-GJL-200-EN 1561 042 | Motor support Aluminium
004 | Casing cover EN 1.4404 (AISI 376L) 044 | Protection EN 1.4307 (AISI 304)
006 | Joint EN 1.4404 (AISI 376L) 075 | Washer
007 | Impeller EN 1.4401 (AISI 316) 076 | Washer EN1.4404 (AISI 316L)
071 | Mechanical seal SIC/SIC/FPM 077 | O-Ring FPM [2]
012 | Motor - 078 | O-Ring
024 [Plug EN 1.4404 (AISI 316L) 200 | Screw Stainless steel A2-70 class SO 3506/1
025 [Plug EN 1.4404 (AISI 316L) 200A | Screw Stainless steel A2-70 class SO 3506/1
026 | O-Ring FPM 2] 235 | Washer EN 1.4301(AISI 304)
032 | Key EN 1.4401 (AISI 316) 244 | Plug[1] EN 1.4301(AISI 304)
[1]= Not for H, HW, HSW, E version [2]= EPDM for E version
Your Life, our Quality. Worldwide. 38 3 - 3L SERIES_60Hz



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)

SECTIONAL VIEW 3LS 65-250,80-200/250

T34 7 32 4 26 4A 11T 3 3A

75 24 77

25 76 78 42A 235 200 244 6 42 12
MATERIALS TABLE
Ref. Name Materials Ref. Name Materials
001 | Pump casing EN 1.4401 (AISI 316) 65-250 =24 mm
003 | Motor bracket Cast iron EN-GJL-200-EN 1561 032 | Key 80-200 d=24 mm EN 1.4401 (AISI 316)
003A | Adapter ring Cast iron EN-GJL-200-EN 1561 80-250 d=29 mm
004 | Casing cover EN 1.4401 (AISI 316) 65-250 d=24 mm
004A | Screw for casing cover a0 45[\52 (13@'1 é/?gl_l)?‘g‘rl)zz - 034 | impeler nut 80-200 d=24 mm EN 1.4404 (AlS| 316L)
65250 d=24mm |y 1 4462 (Duplex stairless stee) for 30-37 kKW 80-250 ¢=29mm
006 | Joint EN 1.4404 (AISI 316L) for 22 kW 042 | Motor bracket Aluminium
80-200 d=24 mm |EN 1.4462 (Duplex stainless stee) for 30-37 kW 0424 | Pumo bracket Aluminium/zincate steel
EN 1.4462 (Duplex stainless steel) p (only for 80-250/55)
80-250 d=29 mm EN 1.4462 (duplex steel) 075 | Washer (plug)
007 | Tmpeller EN 1.4401 (ASI 316) 076 | Washer (plug) EN1.4404 (AISI 316L)
011 [ Mechanical seal SIC/SIC/FPM 077 [ O-Ring (plug) FPM [2]
012 | Motor - 078 | O-Ring (plug)
024 | Plug EN 1.4404 (AISI 316L) 200 | Screw (pump body) Stainless steel A2-70 class SO 3506/1
025 | Plug EN 1.4404 (AISI 316L) 235 | Washer C70
026 | O-Ring FPM 2] 244 | Plug [1] EN 1.4301(AISI 304)
[1]= Not for H, HW, HSW, E version
[2]= EPDM for E version
Your Life, our Quality. Worldwide. 39 3 - 3L SERIES_60Hz

The contents of this publication must not be regarded as binding. EBARA Pumps Europe S.p.A. reserves the right to effect any modification it deems necessary, without prior notice.



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

SECTIONAL VIEW 3(L)P 32, 40, 50, 65-125/160/200
1 4 26 1M 92 66 19 6 20 6A 44 58 12

L™ ( ]

‘.,q 2
RS- e B T
T U e AN X

() N ]
BEITR— E# e S

[1]= For 32-200/5.56, 40-200/116, 50-200/116, 50-200/156 versions only
[2]= For 65-160/156 and 65-200 versions only
[3]= FPM for H, HS, HW, HSW versions and EPDM for E version

\ = ;]
U 2 HE=ry
T & al jasas sam| sans|
\ ‘ \ / \ \ \
|
T N
25 3 200 /2 244 42 67 93 33  42A 50
MATERIALS TABLE
Ref. Name Materials
3P 3LP
. 001 Pump casing EN 1.4307 (AISI 304) EN 1.4404 (AISI 316L)
g | 003 | Motor bracket Cast iron EN-GJL-200-EN 1561
g| 004 | Casing cover EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
= 006 Shaft - Part in contact with the liquid EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
g | 006A |Flexible coupling Cast iron EN-GJL-250-EN 1561
: 007 Impeller EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
2 011 Mechanical seal Carbon/Ceramic/NBR SiC/SIC/FPM
g 012 Motor -
g 019 Bearing (pump side)
g 020 Bearing (motor side) -
g 025 Plug EN 1.4401 (AISI 316) / PTFE
= 026 O-Ring NBR [3] | FPM
S 032 Key EN 1.4407 (AISI 316)
2] 033 [Key C40
o 034 |Impeller nut EN 1.4307 (AISI 304) | EN 1.4404 (AISI 316L)
g1 042 Motor support Fe 37 galvanised steel
2| 042A |[Base Fe 37 galvanised steel
21 044 | loint cover Fe 37 galvanised steel
| 050 Motor support Aluminium / Galvanised Steel
2| 058 | Cablegland -
5[ 066 [Impeller side bearing cover Cast iron EN-GJL-250-EN 1561
5| 067 | Motor side bearing cover Cast iron EN-GJL-250-EN 1561
g 072 Casing ring [1] EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
g 073 Casing ring (not for 65 version) EN 1.4301 (AISI 304) EN 1.4404 (AISI 316L)
g 092 Vring -
2| 093 |Vring -
0 200 | Screw (pump body) Stainless steel A2 70 class ISO 3506/1
2| 244 [Pug[?] - \ EN 1.4301 (AISI 304)

Your Life, our Quality. Worldwide. 40 3 - 3L SERIES_60Hz



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733
(EX DIN 24255)

SECTIONAL VIEW 3LP 80-160

6 20 67 93

200
235 200A

MATERIALS TABLE
Ref. Name Materials Ref. Name Materials
001 | Pump casing EN 1.4401 (AISI 316) 050 | Foot Aluminium
003 | Motor bracket Cast iron EN-GJL-200-EN 1561 050A | Pump spacer -
004 | Casing cover EN 1.4404 (AISI 316L) 050B | Pump spacer

EN 1.4404 (AISI316L :

006 | Shaft Part in contact \Svith the ||)quid 050C | Spacer for protection
006A | Flexible coupling Cast iron EN-GJL-250-EN 1561 066 | Impeller side bearing cover Cast iron EN-GJL-200-EN 1561
007 Imperiler ol EN 1.4401 (AISI 316) 067 Motgr side bearing cover Cast iron EN-GJL-200-EN 1561
011 | Mechanical sea SiC/SIC/FPM 075 | Washer
012 [ Motor . 076 [ Washer EN 1.4404 (AISI 3161)
019 | Bearing (pump side) - 077 | O-Ring FPM [2]
020 | Bearing (motor side) - 078 [ O-Ring
024 [Plug EN 1.4404 (AISI 316L) 089 | Seegerring Carbon tool steels TC 80
025 |Plug EN 1.4404 (AISI 316L) 092 | "V"ring
026 | O-Ring FPM [2] 093 | "V"ring
032 | Key EN 1.4401 (AISI 316) 200 | Screw Stainless steel A2 70 class 1SO 3506/1
033 |Key C40 200A | Screw Stainless steel A2 70 class 1SO 3506/1
034 | Impeller nut EN 1.4404 (AISI 316L) 235 | Washer EN 1.4301(AISI 304)
042 | Motor support Galvanised Steel 244 | Plug[1] EN 1.4301(AISI 304)
042A | Base Galvanised Steel
044 | Joint cover Galvanised Steel

[1]= Not for H, HW, HSW, E version
[2]= EPDM for E version

The contents of this publication must not be regarded as binding. EBARA Pumps Europe S.p.A. reserves the right to effect any modification it deems necessary, without prior notice.

Your Life, our Quality. Worldwide. 41 3 - 3L SERIES_60Hz



jeoypow Aue Joays o} 1yBu e senesal y'd'g adoing sdwnd yeya3 “Bupuiq se papsebs aq 1ou snw uogeagnd sy}

*80jJ0u Joud Jnoyjm “AIESSBOBU SWBBP }f UO!

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)

SECTIONAL VIEW 3LP 65-250, 80-200/250

6 20 67 93

MATERIALS TABLE
Ref. Name Materials Ref. Name Materials
001 | Pump casing EN 1.4401 (AISI 316) 042 | Motor support Galvanised Steel
003 | Motor bracket Cast iron EN-GJL-200-EN 1561 042A | Base Galvanised Steel
004 | Casing cover EN 1.4407 (AISI 316) 044 | Joint cover Galvanised Steel
004A | Screw for casing cover EN 1.4307(AISI 304) 050 | Motor support Aluminium
006 | Shaft - Partin contact with the liquid EN 1.4462 (Duplex stainless steel) 050A | Pump spacer Aluminium
006A | Flexible coupling Cast iron EN-GJL-200-EN 1561 050B | Pump spacer Aluminium
007 | Impeller EN 1.4401 (AISI316) 050C | Joint cover spacer Aluminium
011 | Mechanical seal SIC/SIC/FPM 066 | Impeller side bearing cover Cast iron EN-GJL-200-EN 1561
012 | Motor ( - - 067 Motﬁr side bearing cover Cast iron EN-GJL-200-EN 1561
019 | Bearing (pump side 075 | Washer
020 | Bearing (motor side) - 076 | Washer EN 1.4404 (AISI 316L)
024 | Plug EN 1.4404 (AISI 316L) 077 | O-Ring FPM [2]
025 | Plug EN 1.4404 (AISI 316L) 078 | O-Ring
026 | O-Ring FPM 2] 089 | Seeger ring Carbon tool steels TC 80
65-250 d=24 mm 092 ["V"ring -
032 | Key 80-200 d=24 mm EN 1.4401 (AISI 316) 093 [ "V"ring -
80-250 d=29mm 200 | Screw (pump body) Stainless steel A2 70 class ISO 3506/1
033 | Key C40 235 | Washer EN 1.4301 (AISI 304)
65250 d=24mm 244 | Plug [1] EN 1.4307 (AISI 304)
034 | Impeller nut 80-200 d=24 mm EN 1.4404 (AISI 316L)
80-250 d=29 mm
[1]= Not for H, HW, HSW, E version [2]= EPDM for E version
Your Life, our Quality. Worldwide. 42 3 - 3L SERIES_60Hz



3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
MECHANICAL SEAL standard version MATERIALS TABLE
L Ref. Name Materials
3 SERIES 3L SERIES
S L2 T | Fixed part Carbon SiC
2 | Rotating part Ceramic SiC
3 [ Gasket NBR FPM
| 4 | Frame + spring EN 1.4407 (AISI316) | EN 1.4571 (AISI 316Ti)
%\
b t 43 2 1 3
| |
SESLECIE S
SPECIAL MECHANICAL SEALS 3 SERIES (on request)
Name Materials
H version HS version HW version HSW version E version
Fixed part Carbon SIC Tungsten Carbide Tungsten Carbide Carbon
Rotating part Ceramic SiC Tungsten Carbide SiC Ceramic
Elastomers FPM FPM FPM FPM EPDM
Spring AISI 316 AISI 316Ti AISI 316 AISI 316 AISI 316Ti
Structure/Frame AISI 316 AISI 316Ti AISI 316 AISI 316 AISI 316Ti
SPECIAL MECHANICAL SEALS 3 SERIESL (on request)
Name Materials
H version HW version HSW version E version* ES version**
Fixed part Carbon Tungsten Carbide Tungsten Carbide Carbon Carbon
Rotating part Ceramic Tungsten Carbide SiC Ceramic SiC
Elastomers FPM FPM FPM EPDM EPDM
Spring AISI 316 AISI 316 AISI 316 AISI 316Ti AISI 316Ti 3
Structure/Frame AISI 316 AISI 316 AISI 316 AISI 316Ti AISI 316Ti 5
* Not available for 3L SERIES 80-250 ;f
** Available only for 3L SERIES 80-250 g
2
g
%
é
Your Life, our Quality. Worldwide. 43 3 - 3L SERIES_60Hz



jeoypow Aue Joays o} 1yBu e senesal y'd'g adoing sdwnd yeya3 “Bupuiq se papsebs aq 1ou snw uogeagnd sy}

*80jJ0u Joud Jnoyjm “AIESSBOBU SWBBP }f UO!

3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
ELECTRIC DATA TABLE 3(L)M SERIES ELECTRIC DATA TABLE 3(L)S - 3(L)P SERIES
Model P, P Absorbed Current Model P, Pi | Absorbed Current
Three phase Three phase Three phase
[HP] | [kW] | Three phase Three phase [HP] | [kW] | [kw] Three phase
[kw] 220V | 380V | 460V | 660V 265V 460V
3(LM 32-125/2.26 30122 2.9 7,0 4,1 4,1 - 3(L)S 32-125/2.26 | 3(L)P 32-125/2.26 3 2,2 2,65 7.1 4.1
3(0)M 32-160/3.06 | 4,0 | 3,0 3,9 10,5 6,1 5,6 3(1)S 32-160/3.06 | 3(L)P 32-160/3.06 4 3 3,56 9,0 52
3(DM 32-160/4.06 55140 5,1 14,7 8,5 8,0 - 3(1)S 32-160/4.06 | 3(L)P 32-160/4.06 55 4 4,70 12,3 7,1
3(DM 32-200/5.56 75|55 7,0 - 11,6 95 6,7 3(1)S 32-200/5.56 | 3(L)P 32-200/5.56 75 55 6,22 - 93
3(0)M 32-200/7.56 | 10,0] 7,5 94 - 14,9 12,7 8,6 3(L)S 32-200/7.56 | 3(L)P 32-200/7.56 10 75 8,36 - 12,2
3(LM 40-125/3.06 | 4,0 | 3,0 3,9 10,5 6,1 5,6 - 3(L)S 40-125/3.06 | 3(L)P 40-125/3.06 4 3 3,56 9,0 5,2
3[OM40-125/4.06 | 55 | 40 | 5.1 147 | 85 | 80 - 3(0S40-125/4.06 |3(0P40-125/4.06 | 55 | 4 | 470 | 123 | 7.1
30M40-160/5.56 | 7,5 | 55| 7.0 - [ 116 | 95 | 67 3005 40 160/5.56 |3(0P40-160/556 | 7,5 | 55 | 622 | - 9.3
3(M 40-160/7.56 | 10,0| 7,5 9,4 149 | 12,7 8,6 3(0)S 40-160/7.56 | 3(L)P 40-160/7.56 | 10 75 | 836 12,2
3(0M40-200/116 [ 15,0 11,0] 113 17,7 | 154 | 103 3(L)S 40-200/116 | 3()P40-200/116 | 15 | 11 | 12,15 18,6
3(L)M 40-200/156 | 20,0 15,0 179 287 | 250 | 16,6 3(L)S 40-200/156 | 3(L)P 40-200/156 20 15 16,71 233
3OM50-125/5.56 | 7.5 | 5,5 7.0 .6 9.5 6.7 3(L)S 50-125/5.56 | 3(L)P 50-125/5.56 [ 7,5 55 1622 9.3
3(OM50-125/7.56 [ 10,0 7.5 9.4 49 | 12,7 86 3(L)S 50-125/7.56 | 3(L)P 50-125/7.56 [ 10 75 | 836 12,2
3(OM50-160/116 | 15,0 [ 11,0 113 77 [ 154 | 103 3(DS 50-160/7116 | 3(DP50-160/116 | 15 11 11215 18,6
JOMSIE0TE1200/T50] 179 BT B0 66| SUSSCIEOTE e eoe 120 1 ) 5
§§Bm o 1nnt 17050 - 17 B A2 3(0)5 65-125/7.56 | 3P 65-125/7.56 | 10 | 7.5 | 8,36 12,2
3(0M 65-160/9.26 | 13,0 9'2 1'|' 3 17'7 15'4 1(5 3 3(1)S 65-160/9.26 | 3(L)P 65-160/9.26 | 12,5 9,2 10,40 14,5
SOMes-160Ti6 (150 110132 183 183 105 3(0S 65-160/116 | 3([P65-160/116 | 15 | 11 | 12,15 186
3(|_)M 65-160/156 20,0 15,0 7.9 28,7 25,0 16,6 3(|_)S 65-160/156 3(|_)P 65-160/156 20 15 16,71 23,3
SOMEs 2006 (200 501 179 287 T 220 1 1€ 3(0)5 65-200/156 | 3P 652007156 | 20 | 15 | 16,71 233
3(0M 65-200/18.56 [ 25,0 | 18,5 219 34,8 37,0 20,1 3(1)S 65-200/18.56| 3(L)P 65-200/18.56| 25 18,5 | 20,32 31,1
3(0M 65-200/226 30,0 (22,0 26,4 41,7 36,4 24,0 3(1)S 65-200/226 | 3(L)P 65-200/226 30 22 24,11 34,0
3V 80-160/18.56 1 250 1185 219 38 370 20.1 315 65-250/306 | 3LP 65-250/306 40 30 32,58 47,0
! ’ ! 315 80-160/18.56 | 3LP 80-160/18.56 25 18,5 | 20,32 31,1
315 80-160/226 | 3LP 80-160/226 30 22 24,11 34,0
315 80-200/226 | 3LP 80-200/226 30 22 24,11 34,0
315 80-200/306 | 3LP 80-200/306 40 30 32,58 47,0
315 80-200/376 | 3LP 80-200/376 50 37 | 40,16 56,0
315 80-250/456 | 3LP 80-250/456 60 45 | 48,22 68,0
315 80-250/556 | 3LP 80-250/556 75 55 58,50 82,5
Your Life, our Quality. Worldwide. 44 3 - 3L SERIES_60Hz




3 - 3L SERIES

CENTRIFUGAL ELECTRIC PUMPS STANDARDISED IN COMPLIANCE WITH EN 733

(EX DIN 24255)
NOISE DATA TABLES
Model P, Loa - dB(A)* Model P, Lo - dB(A)*
Three phase Three phase Three phase
[HP] [kw] [HP] [kw]
3(M 32-125/2.26 3,0 2,2 72 3(L)S 32-125/2.26 3(L)P 32-125/2.26 3 2,2 70
3(0M 32-160/3.06 40 3,0 76 3(L)S 32-160/3.06 3(L)P 32-160/3.06 4 3 74
3(0M 32-160/4.06 55 40 3(L)S 32-160/4.06 3(L)P 32-160/4.06 55 4 78
3(M 32-200/5.56 75 55 80 3(1)S 32-200/5.56 3(L)P 32-200/5.56 75 55 8
3(M 32-200/7.56 10,0 75 3(L)S 32-200/7.56 3(L)P 32-200/7.56 10 7,5
3(L)M 40-125/3.06 4,0 3,0 76 3(L)S 40-125/3.06 3(L)P 40-125/3.06 4 3 74
3(L)M 40-125/4.06 55 40 3(L)S 40-125/4.06 3(L)P 40-125/4.06 55 4 78
3(L)M 40-160/5.56 75 55 80 3(L)S 40-160/5.56 3(L)P 40-160/5.56 75 55 Y
3(L)M 40-160/7. 56 10,0 75 3(L)S 40-160/7.56 3(L)P 40-160/7.56 10 75
3(M 40-200/11 15,0 11,0 85 3(1)S 40-200/116 3(L)P 40-200/116 15 11 84
3(L)M 40-200/1 56 20,0 15,0 3(L)S 40-200/156 3(L)P 40-200/156 20 15
3(L)M 50-125/5.56 75 55 80 3(L)S 50-125/5.56 3(L)P 50-125/5.56 7.5 55 8
3(L)M 50-125/7.56 10,0 75 3(L)S 50-125/7.56 3(L)P 50-125/7.56 10 75
3(M 50-160/116 15,0 11,0 85 3(L)S 50-160/116 3(L)P 50-160/116 15 11 84
3(M 50-160/156 20,0 15,0 3(1)S 50-160/156 3(L)P 50-160/156 20 15
3(L)M 65-125/5.56 75 55 80 3(L)S 65-125/5.56 3(L)P 65-125/5.56 75 55
3(M 65-125/7.56 10,0 75 3(L)S 65-125/7.56 3(L)P 65-125/7.56 10 75 82
3(L)M 65-160/9.26 13,0 9.2 85 3(L)S 65-160/9.26 3(L)P 65-160/9.26 12,5 9,2
3(OM 65-160/116 15,0 11,0 3(L)S 65-160/116 3(L)P 65-160/116 15 11
3(M 65-160/156 20,0 15,0 3(L)S 65-160/156 3(L)P 65-160/156 20 15 84
3(M 65-200/156 20,0 15,0 88 3(1)S 65-200/156 3()P 65-200/156 20 15
3(LM 65-200/18.56 25,0 18,5 3(L)S 65-200/18.56 3(L)P 65-200/18.56 25 18,5
3()M 65-200/226 30,0 22,0 3(L)S 65-200/226 3(L)P 65-200/226 30 22 85
3LM 80-160/18.56 25,0 18,5 a3 3LS 65-250/306 3LP 65-250/306 40 30 87
3LM 80-160/226 30,0 22,0 3LS 65-250/376 3LP 65-250/376 50 37
e s s e anteons —[araniions | B |5 | o
3LS 80-200/226 3LP 80-200/226 30 22
3LS 80-200/306 3LP 80-200/306 40 30 g7
3LS 80-200/376 3LP 80-200/376 50 37
3LS 80-250/456 3LP 80-250/456 60 45 90
3LS 80-250/556 3LP 80-250/556 75 55 91

Tollerance + 2.5 dB.

* Mean value of several measures at 1m distance around the pump.

Your Life, our Quality. Worldwide.

3 - 3L SERIES_60Hz

The contents of this publication must not be regarded as binding. EBARA Pumps Europe S.p.A. reserves the right to effect any modification it deems necessary, without prior notice.



SPECIFIC PERFORMANCE
The specifications given refer to the curves illustrated in our catalogues and Data Book (see www.ebaraeurope.com).
All of the performance curves are calculated according to ISO 9906 Attachment A.

Tolerance according to I1SO 9906 Annex A.

The curves refer to an effective speed of the 60 Hz asynchronous motors.

The measurements are made with water temperature of 20°C and cinematic viscosity of v.=1 mm2/s (1 ¢St).

In order to prevent the risk of overheating, the pumps must not be used at a flow rate below 10% of the maximum efficiency flow rate.
During selection of the pumps, there is a safety margin of at least 1 m.

Symbols:  Q = Flow rate [m3/h]
H = Head [m]
P1 = Power absorbed by the electric line
P2 = Power yielded to the motor axis (power absorbed by the pump)

DINIW

DNYV BUSINESS ASSURANCE
MANAGEMENT SYSTEM CERTIFICATE

Certificato No. / Certificate No. CERT-17819-2006-AQ-VEN-SINCERT

Si attesta che | This is to certify that
EBARA PUMPS EUROPE S.p.A.

Sede e Stabilimento di Brendola: Via Pacinotti, 32 - 36040 Brendola (VI) - Italy
Stabilimento di Cles: Via Campo Sportivo, 30 - 38023 Cles (TN) - Italy
Filiale di Palermo: Via Don Luigi Sturzo, 1811183 - Z. 1. - 90040 Carini (PA) - Italy
Filiale di Cagliari: Via del Fangario, 29 - 09122 Cagliari (CA) - Italy

E
3
g
1
5
F3
@
=1

& conforme ai requisiti della norma per i sistemi di gestione:

has been found to conform to the system dard:

UNI EN IS0 9001:2008 (ISO 9001:2008)

Questa Certificazione é valida per il seguente campo applicativo:
This Certificate is valid for the following product or service ranges:

Progettazione, produzione, vendita ¢ cializzazione di pompe e sistemi di pompaggio
(Settore EA : 18 - 17)

Design, manufacture, sales and trade of pumps and pumping systems
(Sector EA : 18- 17)

Data Prima Emissione/Initial Certification Date: Luogo e Data/Place and Date:
2006-10-13 Agrate Brianza (MB), 2012-10-02
Nl Certificato & valido fino al: K Per I"Organismo di Certificazione:
This Certificate is valid until: AC CR EI,),I,A T For the Accredited Unit:
2015-10-10
Shwms Wt
Laudit & stato eseguito sotto la supervisione dif BAMAF P ] .
The auddit has been performed under the Ymbes 1A S ch bl et 25 '
supervision of b {pmiter fewip i LS
Michele Gaiba Zeno Beltrami
Lead Audiror Management Bepresentative
La validita del presente Certifican i al rispe dell izioni contenute nel Co di Certi i
Lack of fulfilment of conditi setout in the Centi ' may render this Cenificate invalid.
DT Mok sw " 3 v T

*80j0U Joud INOUIM ‘AIESSBO8U SWasp }f LOREOLIPOW AU J08ys 0} JyBu 8y} sanasa) y'd'g adoing sdwnd yyyg3 “Buipuig se pepiebal 8q Jou 1w Lo

Your Life, our Quality. Worldwide. 46 3 - 3L SERIES_60Hz



EBARA Pumps Europe network

HEAD OFFICE

EBARA Pum s Europe S.p.A.
Via Pacinotti,

36040 Brendola (\/Ig) Italy
Phone +39 0444 7 6811 Fax +39 0444 405811

ltalian sales (for orders only):
e-mail: ordini@ebaraeurope.com

Export sales (for orders only):
e-mail: exportsales@ebaraeurope.com

Technical Customer Service (TCS):
e-mail: technical_customer_service@ebaraeurope.com
Phone +39 0444 706902/923

Marketing & Marketing Communication:
e-mail: marketing@ebaraeurope.com

ITALIAN SALES NETWORK

NORTH-WEST Region:
rentino Alto Ad/ge Veneto, Friuli Venezia Giulia,
'milia Romagna)
Regional Manager cell.: +39 335 6423308
e-mail: nord@ebaraeurope.com
Phone +39 0444 706811 - Fax +39 0444 405811

NORTH-EAST Region:
alle d'Aosta, Piemonte, Lombardia, Liguria)
egional Manager cell.: +39 335 5327276
e-mail: mrtgmi@ebaraeurope.com
Phone +39 0444 706811 - Fax +39 0444 405975

CENTRAL Region:

g scana, Umbria, Marche, Lazio, Abruzzo, Molise)
egional Manager cell.. +39 335 6423286

e-mall: centro@ebaraeurope com

Phone +39 0444 706811 - Fax +39 0444 405811

SOUTH Region:

Eampan/a asilicata, Puglia, Calabria, Sicilia)
egional Manager cell.: +39 335 6423316

e-mail: sud@ebaraeurope com

Phone +39 0444 706811 - Fax +39 0444 405811

INDUSTRIAL Division:

Manager cell.: +39 335 6423302

e-mail: industry@ebaraeurope.com

Phone +39 0444 706811 - Fax +39 0444 405811

WASTEWATER Division:

Manager cell.: +39 335 6423290

e-mall: ses@ebaraeurope com

Phone +39 0444 706811 - Fax +39 0444 405811

MILANO Branch:

Phone +39 02 93507358 - Fax +39 0444 405975
Branch Manager cell.: +39 335 5327276

e-mail: mktgml@ebaraeurope com

CAGLIARI Branch:

Via del Fangario, 29

09122 Cagliari

Phone +39 070 274281 - Fax +39 0444 405960
Branch Manager cell.: +39 335 6423320

e-mail: mktgca@ebaraeurope com

PALERMO Branch

Via Don L. Sturzo, 181/183

Z.1. - 90044 Carini (PA)

Phone +39 091 8668790 - Fax +39 0444 405980
Branch Manager cell.: +39 335 6423316

e-mail: mktgpa@ebaraeurope com

ExPoRT NETWORK

EBARA Pumps Europe S.p.A. UNITED KINGDOM
Unit 7 - Zodiac Business Park

High Road - Cowley Uxbridge

Middlesex - UB8 2GU, United Kingdom

Phone +44 1895 439027 - Fax +44 1895 439028
e-mail: mktguk@ebaraeurope.com

EBARA ESPANA BOMBAS S.A.
C/Cormoranes 6 Y 8
Poligono Ind. La Estacién
28320 Pinto (Madrid), Spain

Phone +34 916.923.630 - Fax +34 916.910.818
e-malil: marketing@ebara.es

EBARA Pumps Europe S.p.A. FRANCE
555, Rue Juliette Recamier

69970 Chaponnay, France

Phone +33 4 72769482 - Fax +33 805101071
e-mall: mktgf@ebaraeurope.com

EBARA Pumps Europe S.p.A. GERMANY
Ferdinand-Porsche-Ring 7

63110 Rodgau-Jigesheim, Germany
Phone +49 (0) 6106-660 99-0

Fax +49 (0) 6106 660 99-45

e-mail: m tgd@ebaraeurope com

EBARA POMPY POLSKA Sp. z 0.0.

ul. Dziatkowa 115

02-234 Warszawa, Poland

Phone +48 22 3909920 - Fax +48 22 3909929
e-mail: mktgpl@ebaraeurope.com

EBARA Pumrs Europe S.p.A. MIDDLE EAST
P.O. Box 545

Dubai Airport Free Zone

Dubai, United Arab Emirat

Phone +971 4 609 1040 - Fax +971 4 609 1038
e-mail: mktgme@ebaraeurope.com

EBARA Pumps Europe S.p.A. SAUDI ARABIA

Al Sitteen Street,

Al Jazeera commercial center, building #2, First floor
Jeddah, KSA

Phone/Fax +966 2 664 9755

EBARA Pumps Europe S.p.A INDIA LIAISON OFFICE
Bhumiraj Costarica,

Room No. 1503, Sector -18,

Palm Beach Rd., Sanpada,

Navi Mumbai, Mahrashtra, India

Phone +91 22 27812862/63/64

Fax +91 22 27812865

e-mail: mktgind@ebaraeurope.com

EBARA Pumps Europe S.p.A. RUSSIA
Phone +7 985 7672672
e-mail: mktgrus@ebaraeurope.com

The contents of this publication should not be considered binding. EBARA Pumps Europe S.p.A. reserves the right to make changes considered appropriate without prior notice.

Code 479705498 04/13

EBARA Pumps Europe S.p.A.

Via Pacinotti, 32

36040 Brendola (Vicenza), Italy

Phone +39 0444 706811 - Fax +39 0444 405811
e-mail: marketing@ebaraeurope.com
Wwww.ebaraeurope.com

E BARA Corporation

11-1, Haneda Asahi-cho, Ohta-ku,

Tokyo 144-8510

Japan

Phone +81 3 6275 7598 - Fax +81 3 5736 3193
www.ebara.com




